HETIR s

Machine Tools Price

MaiFix®

MZG®

WEA—HEXFRAN

Wechat

MOSASK

PO1. BT . W WeEE——— Ppip S DPATRRES @
po2. RREENR . S=mem== P17 TWONRER P
PO3. FRFEER | s p1g. A TRRE

pos, %t P19, BEEN
PO5. SaEeE poo. HEENTREE ik #_©
PO6. Lo P21. oo e o & P
PO7. . e, P22, EMR*”**%**”@
PO8 'DCMT DNMG.. P23 !(Mm. SEHT.. &239 P3200..
POS. B ... e, P24 BTRIR SRR 4
P10. e P25 BLTR . o B
P11. e, P26, BRTR ==
P12 WNMG.. P27 ER.. g ‘FMA/B l
P13, *‘W” 6 rs o ge?, X .
P14, DINIWIMEENNT g ppg WEPEEE  t @ R
P15. "'*”*“””Q p30. ATEER s §¢ B

FAlZEHIl, #%H,

RN KRFLMITIEERE.

Professional Turning, Milling; Lhreading and Boring Hole Processing Tool Configuration.




MaiF1x®

353 8% T

Carbide Milling Cutter

45° BERRE 55° HEBRE 58° BEBHKRKE 60° HIFBHKAR ek 979
Black Coatings Can Cut | Copper Coatings Can Cut Nano Black Coatings Can Cut Nano Copper Coatings Can Cut Nano Blue Coatings Can
D1IEID Steel Below 45HRC = Steel Below 55HRC . Steel Below 58RHRC Steel Below 60HRC R Cut Steel Below 65HRC
L1 L e Gl . o R
& | /1 ?, 7] f,") ?,';
R { 1 L A
Ces——— W R
‘L,L,J L | r
TEEEOEDDETEEED. s
T E*ﬂiﬂ% PR | B3k | B & SEE| K ShAlCEd Tk kL BE&
DI L1 DL | RLI DL  %HR|%7| %7 &%l etz %70 $71 $t70
1. 0x3xD4x50 | RO. 5x2xD4x50 8.6 [10.7 11.4113.1 19 21.4 21.4 24.1(24.1
1. 5x4xD4x50 | RO. 75x3xD4x50 8.6 110.7 11.4113.1 19 21.4 21.4 24.1|24.1
2. 0x6xD4x50  |R1. 0x4xD4x50 8.6 [10.7 11.4(13.1 19 21.4 21.4 24.1|24.1
2. 5x8xD4x50  |R1. 25x5xD4x50 8.6 110.7 11.4113.1 19 21.4 21.4 24.1124.1
3. 0x8xD3x50  |R1. 5x6xD3x50 8.6 110.7 11.4113.1 19 21.4 21.4 24.1|24.1
3. 0x12xD3x75 |R1. 5x6xD3x75 13.2(16.2 18.6(21.5 30 32.5|32.5
3. 0x15xD3x100 |R1. 5x6xD3x100 | 15.0 | 18.6 21.0)23.5 36.5 36.6|36.6
3. 0x8xD4x50  |R1. 5x6xD4x50 8.6 [10.7 11.4(13.1 19 21.4 21.4 24.1|24.1
3. 5x10xD4x50 |R1. 75x7xD4x50 8.6 110.7 11.4113.1 19 21.4 21.4 24.1124.1
4. 0x10xD4x50 |R2. 0x8xD4x50 7.1 (110.7|14.3|11.4|13.1[20.4[18.6| 19 25 |25.1|28.3|21.4(25.7(21.4|25.7|124.1|24.1|31.6
4. 0x20xD4x75 |R2. 0x8xD4x75 12.0(15.0(21.1(18.6(21.3[25.9 30 33 27.9134.3127.9|134.3132.6|32.6|36.7
4. 0x25xD4x100 |R2. 0x8xD4x100 | 13.7 | 17.1|26.9120.9|22.932.4 32 38 32.9(38.6[32.9138.6|36.7|36.7[42.0
5. 0x13xD5x50 |R2.5x10xD5x50 | 15.4 | 19.5|29.0(20.0|23.6|32.2 34 39 40.0(48.6|40.0(48.6145.0(45.0(51.5
5. 0x13xD5x75 [R2.5x10xD5x75 |[22.2|25.5|32.5(30.9(34.0(38.6 47.2(56.6 54.5154.5|61.5
5. 0x13xD5x100 |R2. 5x10xD5x100 | 27.5| 32.0 | 46.3|37.2|40.0 | 46.5 54.8(65.8 63.9|63.9(72.2
5. 0x13xD6x50 |R2.5x10xD6x50 | 15.4 | 18.026.9[20.0|23.7|35.1 34 39 40.0[48.6/140.0[48.6|45.1|45.1|51.4
6. 0x15xD6x50 |R3.0x12xD6x50 [ 12.9 | 18.0| 26.9(20.0|23.7|35.1|31.4| 34 39 [39.3|44.0[40.0(48.6(40.0|48.6|45.1|45.1|51.4
6. 0x20xD6x75 |R3. 0x12xD6x75 | 20.1|23.6|30.0(30.9|34.0|41.7 47 52 47.9|57.1|47.9|57.1|54.6|54.6|62.0
6. 0x30xD6x100 |R3. 0x12xD6x100 | 25.3 | 29. 6| 42.9 [ 37.0| 40.1 | 48.1 57 63 56.4|68.6|56.4|68.6|64.0|64.0|72.4
6. 0x30xD6x150 |R3. 0x12xD6x150 [ 51.4 | 60.0| 78.7|78.7|83.1]98.6 116 111.4 11.4 110. 3|110. 3]125.0
8. 0x20xD8x60 |R4. 0x16xD8x60 | 24.3|32.0 | 44.0(35.4|41.7|55.6|54.3| 58 64 | 64.4]169.1(64.3|77.1(64.3|77.1(73.6[73.6(85.0
8. 0x25xD8x75 |R4.0x16xD8x75 [ 33.9|39.6|48.3|46.3|52.4|63.9 74 81 74.3(88.6(74.3|88.6|84.0|84.0(94.6
8. 0x35xD8x100 |R4. 0x16xD8x100 | 39.9 | 46. 6| 59.0(58.6| 64.9 | 82. 4 90 | 100 92.9 (111.4] 92.9|111.4/105. 0|105. 0{120. 7
8. 0x40xD8x150 |R4. 0x16xD8x150 | 79. 7| 93.0[121.9[108.3|114.6|135. 4 149 185.7 155.7 172.1)172. 1{189.0
10x25xD10x75 |R5.0x20xD10x75 | 40.0 [ 53.6 | 69.7]63.3|69.4|90.7(90.0( 98 | 108 |102. 1|110.0[103. 6{127.1{103. 6|127. 1|116. 6|116. 6{134. 4
10x40xD10x100 |R5. 0x20xD10x100| 60. 9 | 71.0 | 87.9 | 84.9 | 89.4 [122.1 127 | 139 |136.7|146.1|131. 4|157.1|131. 4|/157. 1]133. 3[133. 3|156. 4
10x45xD10x150 |R5. 0x20xD10x150| 118. 3| 138. 0/ 175. 1]165. 3|174.9|203. 0 236 228.6 228.6 230. 0[{230. 0[264. 6
12x30xD12x75 |R6.0x24xD12x75 | 62. 6 73.0 | 92.1]88.7|97.7|120.3(118. 6 139 | 153 |138. 3|149. 3|137. 1[165. 7|137. 1|165. 7|1565. 4|155. 4{176. 4
12x45xD12x100 |R6. 0x24xD12x100| 81. 4 | 95.0 [117.9|116.4|120.3/155. 6 170 | 187 |204. 3|220. 0|182. 9|198. 6|182. 9|198. 6|197. 4{197. 4{222. 6
12x50xD12x150 |R6. 0x24xD12x150| 144. 0]168. 0/212. 9|207.0/219. 0|253. 4 306 297.1 297.1 325. 6[325. 6[359. 1
14x35xD14x80 |R7.0x28xD14x80 |107. 1{125.0 135.6|143. 4 207.1 227.9|243. 6
14x40xD14x100 |R7. 0x28xD14x100| 114. 0{133. 0 145.0(159. 6 222 228.6 228. 6 256.1(256. 1]296.1
14x60xD14x150 |R7. 0x28xD14x150| 208. 3|243. 0 271.3|286.9 401 382.9 382.9 422.1|422. 1
16x40xD16x100 |R8. 0x32xD16x100| 150. 0163. 0 214.3(222.3 267.1( 311 282.9|306. 4{305. 7 305.7 330. 7{330. 7|383. 3
16x65xD16x150 |R8. 0x32xD16x150| 265. 7/310. 0 361.0[381.9 542 488. 6 488. 6 535. 6|535. 6|600. 6
18x40xD18x100 |R9. 0x36xD18x100| 181. 7|212. 0 248.4(273. 3 377 345.7|369.3|371. 4 371.4 406. 3|406. 3|467.3
18x65xD18x150 |R9. 0x36xD18x150| 314. 3|364. 3 425.1]425. 1 622 642. 9 642.9
20x40xD20x100 |R10x40xD20x100 (221. 4|242.0 307.1|318.3 400. 0] 448 392.9|432.1|442.9 442.9 486.1|486. 1(561.7
20x65xD20x150 |R10x40xD20x150 [362. 6{423.0 529. 6|529. 6 707 757.1 757.1 824.3|824. 3|924.0
/J\%SL.AHTSPFE%EJ] * N R AERR IR SK BET) C RBEKTFIRET] 60° FFKIMIKKGET]

Sma\l Diameter Long Neck Flat-End Milling Cutter
Can Cut Steel Below 60HRC

Small Diameter Long Neck Ball-End Milling Cutter
Can CutStee\Be\ow 60HRC '

D” R \ g ——|D=4

MR RDL By MR RDL EBEify W‘A* L=50mm *}4"—14 L=50mm
D1. 1-D3. 9xD4x50 18 - p Y
S G I EOL gf;g;ﬂg“;f?m AN 7 2D1 &MLl 48 FﬁAL cﬁ{? N DEEOUIE S SR %;.mAL E offx'g .
D6. 1-D7. 9xD8x60 52 RO. 5-R1. 5xD4x75 29 0.3 | 2/3/4 0.3 |2/3/4
D8. 1-D9. 9xD10x75 86 RO 5-R1. 5xD4x100 32 0.4 |2/3/4/5/6 19 22 0.4 |2/3/4/5/6 19 22
D10. 1-D11. 9xD12x75 122 RO 5-R2. OxD6x50 32 0.5 |2/3/4/6/8 19 22 0.5 |2/3/4/6/8 19 22
PAL % A #4350 1mm RO. 5-R2. 5xDb6x75 45 0.6 | 2/3/4/6/8 19 22 0.6 | 2/3/4/6/8 19 22
D1. 0-D3. 0xD4x75 25 RO. 5-R2. 5xD6x100 53 0.7 | 3/4/6/8/10 19 22 0.7 |3/4/6/8/10 19 22
D1. 0-D3. 0xD4x100 27 W ESAAIEEFR RO. 25mm 0.8 | 3/4/6/8/10 19 22 0.8 | 3/4/6/8/10 19 22
D1. 0-D4. 0xD6x50 27 Rax120 87 0.9 |3/4/6/8/10 19 22 0.9 | 3/4/6/8/10 19 22
D1. 0-D5. 0xD6x75 40 R4x200 183 1.0 | 6/8/10/12/15/20| 16 19 1.0 | 6/8/10/12/15/20| 19 22
D1. 0-D5. 0xD6x100 50 Rsx120 136 1.5 | 6/8/10/12/15/20| 16 19 1.5 | 6/8/10/12/15/20| 19 22
N 55 R5x200 169 2.0 |8/10/12/15/20 | 16 | 19 2.0 |8/10/12/15/20 | 19 | 22
D4x15xD4x50 17 R6x120 179 2.5 |10/12/15/20 16 19 2.5 10/12/15/20 19 22
D6x20xD6x50 29 R6x200 365 60° /N RERLEET] 0° RAKMESHT]
D8x30xD8x60 52 R8x200 650 Micro-Diameter Ball-End Milling Cutter Can Cut o MH DWW ortong Negfiound Nose Flat End Miling Gutter
D8x40xD8x120 87 R10x200 936 Steel Below 60HRC % R TD‘
D8x200 183 60° M/INREES%T] n ol —50mm [famm
D10x30xD10x75 86 Micro-Diameter Flat-End Milling Cutter Can Cut R\*:- = ‘D=4mm z o
D10x35xD10x75 86  Steel BelfwwHRc | FlolLt o + 712D1 R A% L1 B
D10x50xD10x100 110 D1} i) D=4mm ‘ ! DIRO.1 | 4/6/8/10 43
D10x45xD10x120 136 *H« L=50mm 4* D1RO. 2 4;6?86} 02 43
D10x200 270 D1.5R0. 1| 6/8/10/1 43
D12x35xD12x75 115 *J”LF’?DF\'L - BH RE I 6;8/} 0/} 2 | 43
D12x50xD12x100 146 D2RO.1 | 8/10/12/16 | 43
D12x45xD12x120 180 0. 3xD4x50 19 22 RO. 15xD4x50 20 23 D2R0.2 |8/10/12/16 | 43
D12x200 365 0. 4xD4x50 19 22 RO. 2xD4x50 20 23 D3R0.2 | 12/16/20 81
D13xD14x100 230 0. 5xD4x50 19 22 RO. 25xD4x50 20 23 D3R0O.5 | 12/16/20 81
D15xD16x100 280 0. 6xD6x50 19 22 RO. 3xD6x50 20 23 D3R0O.5 | 26/30 103
D16x50xD16x100 265 0. 7xD6x50 19 22 RO. 35xD6x50 20 23 D4R0.2 | 16/20 81
D16x200 650 0. 8xD8x50 19 22 RO. 4xD8x50 20 23 D4RO.5 | 16/20 81
D20x200 936 0. 9xD8x50 19 22 RO. 45xD8x50 20 23 D4RO.5 | 26/30 103

UENIEAZHA BT EE
pAEEEIEP ST ?ﬂzﬂ]zﬁﬂﬂﬁﬁ\‘”‘

A—1



http://www.mzgtool.com

REEJTIR

MaiF1x®

60° $54MTEIIEHET)

Tungsten Steel T-Groove Side Milling
Cutlcr Can Cut Steel Below 55HRC

Cemented Carbide Cutter

BT 5 5T

Single-Edge Acrylic / Aluminium Milling Cutter

C Z VISR ST

3 Edged Taper Milling Cutter For Tungsten (]
Steel Can Cut Steel Below 556HRC

p1 D2
Lﬁw____ D
F—AU L I

) ?“—T——\
D1] | NN — |0 MmiER T & MiERT g i !
L1 L D1 a° 1 D2 DL 3F RMB D1 a° 1 D2 DL 3F RMB ;Ijljgﬁrj- $1ﬁ
D1x0. 5°x4LxD1. 07xD4x50Lx3F D4x0. 5°x15LxD4. 26xD6x50Lx3F DIR D L RMB
D1x1°x4LxD1. 14xD4x50Lx3F D4x1°x15LxD4. 52xD6x50Lx3F D4x0. 5HxD1. 5xD6x50 | 27
Mg R~ . W EniEl| D1x1.5°x4LxD1. 21xD4x50Lx3F | 29 DAx1.5°x15LxD4. 79xD6x50Lx3F | 50 D4x1HxD1. 5xD6x50 27
Dimensions RGP D1x2°x4LxD1. 28xD4x50Lx3F 29 D4x2°x15LxD5. 04xD6x50Lx3F 50 D4x1.5HxD1.5xD6x50 | 27
D1 11D L EEE RIS D1 x3°x4LxD1. 42xD4x50Lx3F 29 D4x3°x15LxD5. 57xD6x50Lx3F 50 D4x2HxD1. 5xD6x50 27
D1x5°x4LxD1. 7xD4x50Lx3F 29  D4x5°x15LxDé6. 62xD8x60Lx3F 76 D4x3HxD1. 5xD6x50 27
D2x6xD3. 175x50 8.6 D1. 5x0. 5°x5LxD1. 59xD4x50Lx3F| 29  D4x8°x14. 93LxD8xD8x60Lx3F 76 D6x0. 5HxD2. 5xD8x50 | 44
D2x8xD3. 175x50 8.6 D1. 5x1°x5LxD1. 67xD4x50Lx3F 29 D4x10°x15LxD9. 29xD10x75Lx3F | 121  D6x1HxD2. 5xD8x50 44
D2x10xD3. 175x50 8.6 D1. 5x1. 5°x5LxD1. 76xD4x50Lx3F| 29  D4x15°x14. 93LxD12xD12x75Lx3F| 166 D6x1. 5HxD2. 5xD8x50 | 44
D2x12xD3. 175x50 8.6 D1. 5x2°x5LxD1. 85xD4x50Lx3F 29 D6x0. 5°x20LxD6. 35xD8x60Lx3F | 76 D6x2HxD2. 5xD8x50 44
D2x22xD3. 175x50 8.6 D1. 5x3°x5LxD2. 02xD4x50Lx3F 29 D6x1°x20LxD6. 7xD8x60Lx3F 76 D6x3HxD2. 5xD8x50 44
D2. 5x8xD3. 175x50 8 6 D1. 5x5°x5LxD2. 37xD4x50Lx3F | 29  D6x1.5°x20LxD7. 05xD8x60Lx3F | 76  D8x0. 5HxD3. 5xD8x60 | 71
D2. 5x15xD3. 175x50 8.6 D2x0. 5°x6L.xD2. 1xD4x50Lx3F 29 D6x2°x20LxD7. 4xD8x60Lx3F 76 D8x1HxD3. 5xD8x60 71
D2. 5x22xD3. 175x50 8 6 D2x1°x6LxD2. 21xD4x50Lx3F 29 D6x3°x19LxD8xD8x60Lx3F 76 D8x1.5HxD3. 5xD8x60 | 71
D3. 175x12xb3 175x50 8. 6 116.6 18 D2x1. 5°x6LxD2. 31xD4x50Lx3F 29 D6x5°x20LxD9. 5xD10x75Lx3F 121 D8x2HxD3. 5xD8x60 71
D3 175x15xD3. 175x50 | & ¢ | 16 ¢ | 15  D2x27x6LxD2. 41xDAx50Lx3F 29 D6x8°x20LxD11. 62xD12x75Lx3F | 166  D8x3HxD3. 5xD8x60 71
- 175x15xD3. 175x : : D2x3°x6LxD2. 62xD4x50Lx3F 29 D6x10°x17LxD12xD12x75Lx3F | 166 D10x0. 5HxD4xD10x75 | 103
D3.175x17xD3.175x50 | 8.6 | 16.6 | 18 pyy5oy6l xD3. 05xD4x50LX3F 29 DBx0. 5°x25LxD8. 44xD10x75Lx3F| 121 D10x1HxDAxD10x75 | 103
D3. 175x22xD3. 175x50 | 13 18| 19.6 D3x0. 5°x10LxD3. 17xD4x50Lx3F | 20 D8x1°x25LxD8. 87xD10x75Lx3F | 121  D10x1. 5HxD4xD10x75 | 103
D3.175x25xD3. 175x50 | 14.5 | 18 | 19.6  D3x1°x10LxD3. 35xD4x50Lx3F 29 D8x1.5°x25LxD9. 31xD10x75Lx3F| 121  D10x2HxD4xD10x75 103
D3. 175x28xD3. 175x50 | 16 24 125.6 D3x1.5°x10LxD3. 52xD4x50Lx3F | 29  D8x2°x25LxD9. 74xD10x75Lx3F | 121  D10x3HxD4xD10x75 103
D3. 175x32xD3. 175x50 17 27 | 28.6  D3x2°x10LxD3. 69xD4x50Lx3F 29 D8x3°x25LxD10. 62xD12x75Lx3F | 166 D12x0. 5HxD5xD12x75 | 134
D3. 175x42xD3. 175x60 33 39 40.6  D3x3°x9. 5LxD4xD4x50Lx3F 29 D8x5°x22.8LxD12xD12x75Lx3F | 166  D12x1HxD5xD12x75 134
D3. 175x52xD3. 175x70 43 51 52.6  D3x5°x10LxD4. 75xD6x50Lx3F 50 D12x1. 5HxD5xD12x75 | 134
D4x12xD4x50 20 | 22.6 |25 6 D3x10°x10LxD6. 53xD8x60Lx3F | 76 D12x2HxD5xD12x75 134
D4x15xD4x50 20 | 22.6 |25 6 D3x15°x13. 06LxD10xD10x75Lx3F| 122 D12x3HxD5xD12x75 134
D4x17xD4x50 20 [22.6|25.6
D4x22xD4x50 20 1226 25.6 55° $84NAREET] 60° '%_%%NDa.*ﬁEEtE%U] ) 58°¢5iNE & &l T]
D4X25XD4X50 22 24 27 Tungsten Steel Inner R Milling Cutter Tungsten Steel Dovetail Groove Milling Cutt 600/900/1200
D4X28XD4X50 25 30 33 Can Cut Steel Below 55HRC Can\’/C(;JutSlee\ Below 60HRC :’ungsten Steel Stra\gthroove
D4x32xD4x50 27 36 39 R-, - D P D2 Chamfer Cutter Can Cut Steel
D4x42xD4x60 43 51 54 D@‘ﬁ-'——l_‘_—“"‘”@ D1 ‘%‘—ID Below 58HRC(60°/90°/120°)
D4x52xD4x70 56 | 72 | 75 R e N b o
39 | 42 | 4 . . ————————]
Dex15xD680 % | 4 | 4 AR an] mmRT & 4 [ i |
D6x17xD6x50 39 42 48 D1IR D L RMB D1 a° D2 L1 DL RMB
D6x22xD6x50 39 | 42 | 48 D4RO. 5xD4x50 D4x90°xD1. 5x6xD4x50 | 27 # ’Fﬁ R S |A &
D6x25xD6x50 39 | 42 | 48 D4RO0. 75xD4x50 20 D6x90°xD2. 5x8xD6x50 | 44 AL C°af'ngs
D6x28xD6x50 47 | 51 57 D4R1. 0xD4x50 20 D8x90°xD3x6xD8x50 71 D1 xD4x50L 19 | 21
D6x32xD6x50 47 | 54 | 60 D6R1. 0xD6x50 35 D10x90°xD4x10xD10x60 | 103  D2xD4x50L 19 | 21
D6x42xD6x60 66 |74.6 | 81 D6R1. 5xD6x50 35 D12x90°xD5x12xD12x60 | 134  D3x50L 19 | 21
D6x52xD6x70 85 [93.4| 108 D6R2. 0xD6x50 35 D4x50L 19 | 21
D6x62xD6x80 105 | 135 | 141 D8R2. 0xD8x50 59 D5x50L 36 | 39
D6x72xD6x90 132 ] 165 | 171 D8R2. 5xD8x50 59 D6x50L 36 | 39
D8x20xD8x50 83 | 140 |178.6 D8R3. 0xD8x50 59 D8x60L 57 | 60
D8x32xD8x50 83 | 140 |178.6 D10R4. 0xD10x60 86 D10x75L 84 | 89
g]gxggxgl 8ng 132 128 38; ] D12R5. 0xD12x60 118 D12x75L 13 | 117
x32xD10x . B N
D12x20xD12x50 197 | 210 | 225 58" $SMEIHIRR 58°%5 4 & A 5
D12x32xD12x50 197 218 22 S%pe(?; ‘V\E/ﬁmg Cutter for Tungsten (/E '“‘*u 1£|J% ﬁm)
55° $2HE 7148 MR T] 4650 45 K §6 4 B 45 Steelveried Cone D Frame Use O Fixed Point And Chamer Gan Cut
Spiral-Edged Tungsten Steel Reamer Tungsten Steel Drills Tungsten Steel Bar Steel Below 58HRC
Can Cut Steel Below 55HRC D1IWID b
L 90°
zw_p W = .L—‘ $g=;
P — RN i — | = J}D P ‘
% R S ‘ ‘ Mg Rt :féEID
D1 L1 D L 7JHT = - = D1 L1 DL ‘
D3x50xD3x100LxAT 32 Mg R+ $1II Mg R+ 55° 60 D4x15xD4x50 17 Coa(ig((\ii/ﬁsgfﬁcﬁgpe”
D4x50xD4x100Lx4T 34 DL SUERERTER  pex30xD6x100 47
D5x50xD5x100Lx6T 47 .0-D1.5 D3x100L D8x30xD8x60 51 ﬂ.*ﬁRT %:l Fﬁ =B
D6x50xD6x100Lx6T 56 .6-D2.0 D4x100L D10x30xD10x75 86 GCoatings|
D8x50xD8x100Lx6T 89 D2. 1-D2. 5 1 1 D5x100L 26 | 31 D10x45xD10x100 110 D1 xD4x50L 14 | 16
D10x50xD10x100Lx6T | 129 D2. 6-D3. 0 14 D6x100L 31 1 36 D12x35xD12x75 114  D1.5xD4x50L 14 | 16
D12x50xD12x100Lx6T | 171 D3.1-D3.5 17 D8x100L 60 | 89 D12x50xD12x100 146 D2xD4x50L 141 16
D3. 6-D4.0 20  D10x100L 90 136 D16x50xD16x100 243 D3xD4x50L 14 16
55° H 154N T] D4.1-D4.5 23 D12x100L 131 | 197 D3x100L 26 | 29
Straight-Edged Tungsten Steel Reamer D4. 6-D5. 0 29 S 14 1
Can Cut Stesl Below 55HRG D5.1-D5. 5 33 ?8 ﬂ;&éﬁg%ﬁﬁ)ﬁ gii?glaL 2% 23
D5. 6-Dé. O 40 Doubl’é‘;iead Tungsten Steel Fixed-point D5x50L 25 27
| EBE——=——=1D D6.1-D6.5 47 Drill Dual Use Of Fixed Point And D5x100L 51 | 54
D'”‘—" L1 L D6 6_D7 0 54 Chamfer Can Cut Steel Below 58HRC D6X50L 25 27
‘ ‘ D7.1-D7.5 71 D6x100L 51 54
Mg R+ CEiN  D7.6-D8.0 79 D8x60L 47 | 51
D1 L1 D L 7J%T RMB D8. 1-D8. 5 94 D8x100L 80 84
D3x50xD3x100Lx4T 25 D8. 6-D9. 0 104 D10x75L 79 81
D4x50xD4x100Lx4T | 27 D9 1_3?650 119 *Mﬁ R ~F *n i C,,fF'F D10x100L 114 | 119
D5x50xD5x100Lx6T 37 D9. 6-D10. 129 SIS  D12x75L 107 | 114
D6x50xD6x100Lx6T 40 D10. 1-D10. 5 150 D3x100L DB 31 34 D12x100L 159 | 163
D8x50xD8x100Lx6T 61 D10. 6-D11.0 157 D4x100L-DB 31 34 D14x100L 216 | 221
D10x50xD10x100Lx6T | 93 D11.1-D11.5 | 193 D5x100L-DB 60 | 63 D16x100L 269 | 276
D12x50xD12x100Lx6T | 126 D11.6-D12.0 | 210 D6x100L-DB 60 | 63 D20x100L 397 | 407

ULMBASHAZEE!
MUSIIRD RIEFAVRENEF N 5=

o



http://www.mzgtool.com

MaiFix® T B HT £ 22 3

Extrusion Screw Tap

B MEEE g AH AE MEHE  mE Am Ae
Extrusion Screw Tap 2 F BExK E (/K F) Precision  Shape White BRI xTF BExIK B (/R TF) Precision  Shape White
M3. 0x0. 35 B M14x1. 0 RH8 | B 110 | 121
M3. 0x0. 5 RH4 | P 20 | 23 M14x1.25 RH8 | B 110 | 121
RH4 | B 20 | 23 M4x1.5 RH8 | B 110 | 121
RH5 | P 20 | 23 M4x2.0 RH8 | B 110 | 121
RH5 | B 20 | 23 Méx1.0 RH8 | B 143 | 156
RH6 | P 20 | 23 Méx1. 25 RH8 | B 143 | 156
RH6 | B 20 | 23 Wmeéx1.5 RH8 | B 143 | 156
RH7 | P 20 | 23 Méx2.0 RH8 | B 143 | 156
WE L B RH7 | B 20 | 23
29X F BExK B (/R F) Precision Shape  White RH8 B 20 23 UNF0-80 RH4 P 24 26
RH9 | B 20 | 23 RH4 | B 24 | 26
mg- 2"8- ]§5 Eﬂg E ‘3‘3 2‘2) M3. 0x0. 5-80L 37 UNCT—64 RH4 | B 24| 26
- Sx0. M3. 0x0. 5-100L 41 | 44 UNF1-72 RH4 | B 31 | 33
- 7x0. 175 RH3 | B 391 42 3. 0x0. 5-150L 74 | 77 TUNG2-56 RH4 | P 24 26
MO. 8x0. 2 RH4 | B 28 | 31 y3.0x0.5LE F RH6 | B 28 | 31 RH4 | B 24 | 26
MO. 9x0. 25 RH4 | B 28 | 31 "3.5x0. 6-100L | 44 RH5 | P 2 | 26
W1.0x0.25 RH4 | P 22125 3.5x0. 6L F RH6 | B 28 | 31 RH5 | B 24 | 26
EE“ B g %5 M4. 0x0. 35 RH6 | B 30 | 33 UNC2-56-100L 42 | 45
5| P 5 M4.0x0.5 RH6 | B 30 | 33 UNF2-64 RH5 | B 28 | 33
T3 RHS | B 22175 4. 0x0.7 RH5 | P 20 | 23 TUNC3-48 RH5 | B 24 | 26
1. 1x0. 25 Eﬂj E 38 gg RH5 | B 20 | 23 UNF3-56 RH5 | B 31 | 33
55 RH6 | P 20 | 23 UNG4-40 RH5 | P 20 | 23
1. 2x0.25 RH4 | P 22 1 25 RH6 | B 20 | 23 RH5 | B 20 | 23
EE“ B g %5 RH7 | P 20 | 23 RH6 | P 20 | 23
S|P S RH7 | B 20 | 23 RH6 | B 20 | 23
i3 RHS | B 22 | 25 RHS | P 20 | 23 RH7 | B 20 | 23
m1- P RHZ‘ P gg 33 RHS | B 20 | 23 UNC4-40-100L 42 | 45
-4x0.3 RH4 | P 5 RH9 | B 20 | 23 UNF4-48 RH5 | P 31 | 33
RH4 | B 221 25 4. 0x0. 7-80L 37 | 41 RH5 | B 31 | 33
Eﬂ5 P 22125 y4.0x0. 7-100L 41 | 44 TUNC5-40 RH5 | P 22 | 25
5B 22125 4. 0x0. 7-150L 74 | 77 RH5 | B 2 | 25
M]- 4"8- §‘8°L AL 44 w4 0x0. ILRF RH6 | B 28 | 31 UNC5-40-100L 42 | 45
M1. 5x0. Eﬂj E 38 gg 4. 5x0.5 RH7 | B 31 | 35 UNF5-44 RH6 | B 31 | 33
5 M4. 5x0. 75 RH7 | B 24 | 29 TUNG6-32 RH5 | P 20 | 23
M1. 6x0. RH4 | P 301 33 “W5.0x0.35 RH6 | B 31 | 35 RH5 | B 20 | 23
RH4 | B 301 33 ys.0x0.5 RH6 | B 31 | 35 RH6 | P 20 | 23
M1. 6x0. 35 RH4 | P 22125 )5 0x0.8 RH6 | P 2 | 26 RH6 | B 20 | 23
RH4 | B 22 1 25 RH6 | B 22 | 26 RH7 | B 20 | 23
Eﬂg g %g %g RH7 | P 22 | 26 UNC6-32-100L 42 | 45
~ RH7 | B 22 | 26 UNF6-40 RH6 | P 28 | 31
M1. 6x0. 35-80L a | 44 RHS | B 22 | 26 RH6 | B 28 | 31
M. 7x0. 2 RH4 | B 301 33 y5. 0x0. 8-80L 39 | 43 TUNG8-32 RH6 | P 21 | 24
M1.7x0. 35 RH4 | P 22125 y5.0x0. 8-100L 42 | 46 RH6 | B 21 | 24
RH4 | B zg %5 M5. 0x0. 8-150L 77 | 81 RH7 | P 21 | 24
Eﬂg E %2 22 M5. 0x0. 8L 3F RH6 | B 30 | 34 RH7 | B 21 | 24
5 B2 M. 0x0.5 RH7 | B 31 | 35 UNG8-32-100L 42 | 45
M]- g"g- : 5 5 M6. 0x0. 75 RH7 | B 31 | 35 UNF8-36 RH7 | B 31 | 34
M1. 8x0. 35 Eﬂj E 23 22 Mé. 0x1. 0 RH6 | P 22 | 26 _UNS8-40 RH6 | B 31 | 34
5 5 RH6 | B 22 | 26 TUNG10-24 RH6 | P 22 | 25
M2. 0x0. 25 RH4 | P 30 | 33 RH7 | P 22 | 26 RH7 | B 2 | 25
12, 0x0. 4 Eﬂj E 28 gg RH7 | B 22 | 26 UNC10-24-100L 42 | 46
- 0x0. iyl I 2= RH8 | B 22 | 26 UNC10-24L F RH7 | B 30 | 34
501 53 me.oxt.o-soL 39 | 43 UNF10-32 RH7 | P 28 | 31
Eﬂg g S0 | 55 M6.0x1.0-100L 42 | 46 RH7 | B 28 | 31
e e 201 % wme.oxto-150L 77 | 81 UNF10-32-100L 42 | 46
o E 013 me.oxt.oLREF RH6 | B 30 | 34 UNF10-32LEF RH7 | B 30 | 34
R B 15 Woxs RH7 | B 39 | 44 UNF12-24 RH7 | B 23 | 28
M7. 0x0. 75 RH7 | B 39 | 44 UNF12-28 RH7 | B 28 | 32
RH7 | B 200123 y7.0x1.0 RH7 | B 39 | 44 uUNs12-32 RH7 | B 28 | 32
RH8 | B 20123 "Ngox0.5 RH7 | B 39 | 44 UNC1/4-20 RH7 | P 23 | 28
M2. 0x0. 4-80L ST 4T Mgl ox0. 75 RH7 | B 39 | 44 RH7 | B 23 | 28
M2. 0x0. 4-100L A1 44 gloxt. 0 RH7 | B 39 | 44 UNG1/4-20-100L 42 | 46
M2. 0x0. 4L f 5F RHO6 | B 30 | 335 yg.ox1.25 RH7 | B 39 | 44 UNC1/4-20LEF  RH7 | B 30 | 34
M2. 2x0. 45 RH4 | P 22 |25 RH9 | B 39 | 44 UNF1/4-28 RH7 | P 28 | 32
T RH4 | B %2 %5 M8. Ox1. 25-100L 55 | 61 RH7 | B 28 | 32
M2. 3x0. Eﬂg g 28 23 M8. 0x1. 25-150L 79 | 85  UNF1/4-28LRZF  RH7 | B 30 | 34
N2 30, 4LE F B e 2008 weoxtaslRF | Ri7 |6 46 | 52 UNEF1/4-32 RH7 | B 28 | 32
HSX03 M9. 0x0. 5 RH7 | B 24 [ 51 _UNS1/4-36 RH7 | B 28 | 32
mg gxg. gg Eﬂg g 38 gg M9. 0x0. 75 RH7 | B 44 | 51 UNC5/16-18 RH7 | B 39 | 44
o 2x0- 32 e B o3 weoxto RH7 | B 44 | 51 UNC5/16-18LEZF  RH7 | B 47 | 53
- 5x0. iyl I 015 we.oxt.2s RH7 | B 44 | 51 UNC5/6-18-100L 57 | 63
i 01 53 wox0.s RH7 | B 24| 51 UNF5/16-24 RH7 | B 42 | 47
i I 2002 wmoxo.7s RH7 | B 44 | 51 TUNC3/8-16 RH7 | B 46 | 55
Ri%e 1\ 015 moxto RH7 | B 44 | 51 UNC3/8-16-100L 64 | 70
O T 015 woxt.2s RH7 | B 44 | 51 UNC3/8-16LEZF  RH7 | B 55 | 62
I 20023 wmoxts RH7 | B 44 | 51 UNC3/8-24 RH7Z | B 50 | 58
A I 20 N5 RH9 | B 44 | 51 TUNC7/16-14 RH7 | B 61 | 69
R e 221 2 wmoxt.5-1000 64 | 70 UNF7/16-20 RH7 | B 66 | 75
W2, 540, 45-80L 2002 wmoxt 51500 85 | 91 TUNG1/2-12 RH7 | B 72 | 83
- 5x0. M10x1. 5L/% 5F RH7 | B 53 | 59 UNF1/2-20 RH7 | B 72 | 83
M2. 5x0. 45-100L 4 | 4 e T B 228
mg 5&8- jg'—’igf E:g E 38 gg M12x0. 5 RH7 | B 50 | 58 W1/8-40 RH6 | P 2 | 25
- 6x0. eI o1 53 wm2x0.75 RH7 | B 50 | 58 RH6 | B 2 | 25
i 2002 wmao RH7 | B 50 | 58 W5/32-32 RH7 | B 2 | 25
i 2002 w2z RH7 | B 50 | 58 W3/16-24 RH7 | B 22 | 25
e s ol wmaxas RH7 | B 50 | 58 W1/4-20 RH7 | B 23 | 28
W2, 640, 45-100L 008 wm27s RH7 | B 50 | 58 W5/16-18 RH7 | B 39 | 44
- 6x0. RH8 | B 50 | 58 W3/8-16 RH7 | B 50 | 58
M12x1. 75-100L 83 | 91 wi/16-14 RH7 | B 61 | 69
M12x1. 75-150L 96 | 105 Wi/2-12 RH7 | B 72 | 83
M12x1. 75L R 5F RH7 | B 59 68

ULMBASHAZEE!
MIETIB IEFRARENEF N il

A—1



http://www.mzgtool.com

7% Ui £2 ¥ MaiFix®

Apex Tap

it MRE S BE OKE A& MRS BE KB Ae
Apex Tap B X F BExK E (/R F) Precision  Shape White 2 xF BExK E (/K F) Precision  Shape White
= — M7.0x0. 5 P2 28 | 33 UNC1/2-12
i i M7. 0x0. 75 P2 28 | 33 UNF1/2-20 P3 61 | 69
Yo M7. 0x1.0 P2 25 | 31
White M8. 0x0. 5 P2 28 | 33 wi1/8-40 P1 20 | 23
M8. 0x0. 75 P3 28 | 33 W5/32-32 P2 20 | 23
R @ s 0x1.0 P3 28 | 33 W3/16-24 P2 20 | 23
_ E— M8. 0x1. 25 P3 25 | 31 W7/32-24 P2 20 | 24
Tin P4 25 | 31 W1/4-20 P2 20 | 24
T T IR =TT H8. Ox1. 25-100L 53 hedne o M
W2 ExF BExK E (/R F) Precision Shape White i . 0x1. 25%;‘2&')L 77 W3/8-16 P2 33 40
M8. Ox1. 25%E P4 182 W7/16-14 P3 50 | 58
M1. 0x0. 25 P1 2 | 25 4o 0x05 P2 35 | 42 Wi/2-12 P2 55 | 64
M1. 0x0. 25454 P2 116 9. 0x0. 75 P3 35 | 42
1. 2x0. 25 P 77 [ 75w oxd 0 P3 35 | 42
M1. 2x0. 25%845K P2 105 e
NI = o5 o M9. 0x1. 25 P3 33 40 PS1/8-28%8%R P4 237
M1-4x0-3 o 5 | s M10x0. 5 P2 35 | 42 PS1/4-1958%K P4 385
- 4x0. o 5% | 5 M10x0. 75 P3 35 | 42 PT1/8-28%84K P4 264
M10x1. 0 P3 35 42 PT1/4-19%54% P4 402
M1. 4x0. 3-80L 39
M10x1. 25 P3 35 | 42
M1. 4x0. 3454 P2 94 Wmox1.5 P3 33 | 40
M1.5x0.3 P2 24 | 28 :
1. 9x0.3 = RNt P4 33 | 40 NPS1/8-27%54H P4 237
- 6x0- % o o 55 M10x1. 5-100L 61 NPS1/4-18%54%R P4 385
M. 6085 ol % M10x1. 5-150L 83 NPT1/8-27%5%K P4 264
- 6x0. M10x1. 5584K P4 215 NPT1/4-18%54R P4 402
M1. 6x0. 3555451 P2 88 M11x1. 0 P3 44 | 53
1. 7x0. 35 ) 227 | 5 a0 5 ) 26 1 55
M1. 7x0. 35554 P2 88 M12x0.75 P3 46 | 55
M1.8x0. 2 P2 28 | 31 :
M12x1.0 P4 46 | 55
M1. 8x0. 35 P2 24 | 28 woeq o5 pa 46 | 55
M2. 0x0. 25 P2 28 | 31 :
2. 0x0.2 = S0 | 5y Mi2x1.s P3 46 | 55
- 0x0. = S0 | 5y m2x1.75 P4 44 | 53
o S0 | 53 W2x1.75-100L 79
V2. 050, 4-80L o M12x1. 75-150L 94
- 0x0. M12x1. 75454K P4 264
M2. 0x0. 4-100L 39 M14x1.0 P3 72 83
M2. 0x0. 4554 P3 83 M14x1.25 P3 72 | 83
M2. 2x0. 25 P2 28 | 31 :
M14x1.5 P3 72 | 83
M2. 2x0. 45 P2 20 | 23 piaxo
x2.0 P2 66 | 77
M2. 3x0. 4 P2 20 | 23
M16x1. 0 P3 83 | 94
M2. 5x0. 35 P2 28 | 31
M16x1. 25 P3 83 | 94
M2. 5x0. 45 P2 20 | 23 wiexi 5 P3 83 | 94
P3 200022 mex2.0 P4 77 | 88
P4 20 | 23 :
M2. 5x0. 45-80L 35 _
M2. 5x0. 45-100L 39 ﬂng?_gﬁ E} 35 %2
M2. 5x0. 45554 P3 83 UNF1-72 P1 28 | 31
M2. 6x0. 35 P2 28 | 31 UNGZ=56 57 55125
M2. 6x0. 45 P2 20 23 P4 22 25
M2. 6x0. 45-100L 39 UNG2-56—100L 40
M3. 0x0. 35 ) 20 | 23 NFoed P2 28 | 31
M3. 0x0.5 P2 17 20 UNC3-48 P2 22 25
Ei ] ; %8 UNF3-56 P2 28 | 31
UNC4-40 P2 20 | 23
+0. 1 20 | 23 P3 20 | 23
M3. 0x0. 5-80L 35 Y 20 | 23
M3. 0x0. 5-100L 39 UNG4-40-100L 40
M3. 0x0. 5-150L 72 UNF4-48 P2 28 | 31
M3. 0x0. 5554 P3 83 TUNC5-40 P2 20 | 23
M3. 5x0. 6-100L 39 UNC5-40-100L 40
M4. 0x0. 35 P2 28 31 UNC6=32 P2 20 23
M4. 0x0. 5 P2 20 | 23 P3 20 | 23
M4. 0x0. 7 P2 17 | 20 P4 20 | 23
Ej ] ; ;8 UNC6-32-100L 40
+0. 1 20 | 23 -UNR6-40 P2 28 3
M4. 0x0, 7-80L 35 UNCE=32 E% 38 %g
M4. 0x0. 7-100L 39 P4 20 23
M4. 0x0. 7-150L 72
UNC8-32-100L 40
M4. 0x0. 754K P3 83 UNF8-36 P2 28 | 31
mg 8xg g E% 12(; 5? UNC10-24 P2 20 | 24
- 0x0. - AN IS UNC10-24-100L 40
5 AN UNF10-32 P2 20 | 24
o S0 | 5a  _UNF10-32-100L 40
5. 0x0. B-80L : o UNCT2-24 P2 20 | 24
Mo. 0x0. 8780 b UNF12-28 P2 28 | 32
X UNC1/4-20 P2 20 | 24
M5. 0x0. 8-150L 75 p3 20 24
M5. 0x0. 8484K P3 88 P4 20 | 24
mg- 8xg gs E% %8 %3 UNC1/4-20~100L 40
M. 0x0. 7 o 2| 5 UNC1/4-28 P2 28 | 32
- 0x1. o oo UNS1/4-32 P2 28 | 32
) Y UNEF1/4-36 P2 28 | 32
o 50 | 5. UNcs/1é-18 P3 25 | 31
M6 Ox 1. 0-80L : X UNC5/6-18-100L 55
SOX UNF5/16-24 P2 31 36
M6. 0x1. 0-100L 40 Z
UNC3/8-16 P3 33 | 40
M6. 0x1. 0-150L 75 14
NG Ont” 0g N o o,  UNC3/8-16-100L 62
- Wl Ui UNF3/8-24 P2 39 | 45
UNC7/16-14 P3 50 | 58
UNF7/16-20 P3 38 &

UEMBASHAZIE
DUEEELEDS E?ﬂzﬂ]aﬁﬂi‘—f?ﬂ N BT .

\i%



http://www.mzgtool.com

Spiral Grooved Tap

2 BfE 24 £ Mg E S BE At #K MRS BE AE K MRS BE AE i
Spiral Grooved Tap IR UxF BExK B (/K F) Precision White  Tin BB X F BExIK E (/R F) Precision White  Tin YR xF BEx4 B (/R F) Precision White  Tin
- M4. 0x0. 7 +0.1] 20 | 23 M12x0.5 P2 | 46 | 55 UNF1/4-28 P2 | 28 | 32
mw_ﬂw — P2 | 17 | 20 M12x0.75 P2 | 46 | 55 Pa| 28 | 32
, S ——e P3| 17 | 20 M12x1.0 P2 | 46 | 55 UNF1/4-28-HT#ZE | 1B 31
White P4 | 17 | 20 P4 | 46 | 55  UNF1/4-28LJz 3F P2| 31 | 35
) M4. 0x0. 7-100L 39 M12x1. OLR F P2 | 53 | 62 UNEF1/4-32 P2 | 28 | 32
WE" M4. 0x0. 7-150L 72 M12x1. 25 P2 | 46 | 55  UNS1/4-36 P2 | 28 | 32
= M4. 0x0. 7—AL§E‘.§ P2 | 17 | 17 . P4 | 46 | 55 UNC5/16-18 P2 25 | 31
Tin M4. 0x0. 7-HT4p 1B | 20 | 26 M12x1.25L P2 | 53 | 62 P3| 25 | 31
R 2 WA E M4 0x0. LR F P2 | 20 | 24 M12x1.5 P2 | 46 | 55 P4| 25 | 31
B 50 B E (/R 2F) Preﬁcisiyt;n ML h| M5.0x0.5 P2 | 20 | 23 P4 | 46 | 55 UNC5/16-18-100L 55
U1 040, 25 o1 | 2NN 55 P3| 20 | 23 M12x1.5LRZF P2 | 53 | 62 UNC5/16-18-AL4SF| P2 | 28
. 0x0. P4 | 20 | 23 MI2x1.75 +0.1| 46 | 55  UNC5/16-18-HTHPZE| 1B | 33 | 35
P21 22125 N5.0x0. 5L F P2 | 24 | 29 P2 | 44 | 53 UNC5/16-18L/% 3F P2 | 31 | 36
P3| 22 | 25 N5.0%0.8 +0.1] 20 | 23 P3| 44 | 53 UNF5/16-24 P21 31 | 36
P4 | 22 | 25 P2 | 17 | 20 P4 | 44 | 53 P4l 31 | 36
M1.2x0. 25 P11 22| 25 P3| 17 | 20 M12x1.75-100L 79 UNF5/16~24-HT 4 1B 42
Ei
P2\ 22 | 25 P4 | 17 | 20 M12x1.75-150L 94 UNF5/16-24L | 5F P2 | 39 | 44
P3122 | 25 M5.0x0.8-100L 40 M12x1. 75-AL$5 ] | P2 44 UNC3/8-16 P2 1 33 | 40
PA| 22 | 25  M5.0x0.8-150L 75 M12x1. 75-HT4PE | 1B | 50 | 53 P3| 33 | 40
m-ixg-g El %g 22—, M5. 0x0. 8—AL§E§ P2 | 17 | 17 M2x1.75LR T P2 | 51 | 62 pa| 33 | 40
- 4x0. M5. 0x0. 8-HT 1B 20 26 M14x1.0 P2 72 83 UNC3/8-16-100L 62
P21 22 | 25 M5.0x0.8LR P2 | 20 | 24 M14x1.25 P2 | 72 | 83 UNG3/8-16-AL4E P2 | 35
P3| 22 25 M6. 0x0. 5 P2 20 23 M14x1.5 P2 72 83 UNC3/8-1 G—HT?E 1B | 40 44
i
P4 | 22 25 P3 20 24 M14x2.0 P2 66 77 UNC3/8-16L % 5 P2 | 40 46
M1.5x0. 3 P1 28 31 P4 20 24 M16x1.0 P2 83 96 UNF3/8-24 P2 | 39 45
MT. 6x0. 2 P11 28 | 31 M6.0x0.5LRF P2 | 24 | 29  M6x1.25 P2 | 83 | 96 pa| 30 | 45
P2| 22 | 25 P3| 20 | 24 M16x2.0 P2 | 77 | 90 UNF3/8-24L R 5F P2 | 46 | 53
P3| 22 | 25 P4 | 20 | 24 .
Pa | 22 | 25  M6.0x0. 75L& F P2 | 24 | 29 _UNFO-80 pL | 20 | o5 UNSS/8732 .
. S5 UNC7/16-14 P2 | 50 | 58
M1. 6x0. 35-HTHFE| 1B 29 M6.0x1.0 +0.1] 20 | 24 UNC1-64 P1 | 2 5 UNF7/16-20 P2 | 53 | &2
M. 7x0. 2 P1| 28 | 31 P2 | 17 | 21 UNF1-72 P1| 28 | 31 \nG1/2-12 55 755 | 64
M1. 7x0. 35 P1| 22 | 25 P3| 17 | 21 UNC2-56 Pl | 22 | 25 g
P2| 22 | 25 P4 | 17 | 21 p2 | 22 | 25 WNF1/2720 i I
P3| 22 | 25  M6.0x1.0-100L 40 P3 | 22 | 25
W1/8-40 P1| 20 | 23
P4| 22 | 25 M6.Ox1.0-150L 75 L P4 | 22 | 25 weliotes P2 | 20 | 23
1. 8x0. 2 P 28 | 31 M6.0x1.0-AL$BFH | P2 | 17 | 17  UNC2-56-100L 40 W3/16-24 P2 | 20 | 23
M1.8x0. 35 P1| 24 | 28 M6.0x1.0-HT3FE | 1B | 20 | 26  UNC2-56-HTIFE 1B 26| 29 e o4 P2 | 20 | 24
M2. 0x0. 25 P1 | 28 | 31 _M6.0x1.0LRZF P2 | 20 | 24 UNF2-64 P1 | 28 | 31 wf°%0 P2 20 | 24
M2. 0x0. 4 +0.[122 | 25 M7.0x0.5 P2 | 28 | 33 UNC3-48 PI |22 |25 ehetia P2 | 25 | 31
P1| 20 | 23 P4 | 28 | 33 _UNF3-56 P1 | 28 | 31 =0o 0| 33 | 20
P2 | 20 | 23 M7.0x0.75 P2 | 28 | 33 UNC4—40 PT |20 [ 28~ (=0o 0, 0| 20 | =8
o0 15 W ox0. LR B3 Lo 39 B0 | 2w P2 | 55 | o4
P4 | 20 | 23 . 0x0.
M2. 0x0. 4-100L 39 M7.0x1.0 P2 | 25 | 31 P4 | 20 | 23 Gy
M2, 0x0. 4-ALEEF | P1| 20 | 20 PA | 25 | 31 UNG4-40-100L 40 Eg} ﬁ_fg%gﬂ gi
M2. 0x0. 4-HTHE 1B | 23 | 28 _M7.0x1.0L/&3F P2 | 31 36 UNC4-40-AL%S A P2 | 20 PS1/4-18 33
M2. 0x0. 4L 5F pP1| 24 | 28 M8.0x0.5 P2 | 28 | 33 UNCA-40-HTHFE 1B | 23 | 28 PS1/4-19 %% 39
M2. 2x0. 25 P1 | 28 | 31 P4 | 28 | 33 _UNF4-48 P1 | 28 | 31 PS3/8—18§$|] 55
M2. 2x0. 45 p1 | 20 | 23 M8.0x0.75 P2 | 28 | 33  UNC5-40 P2 | 20 | 23 193 51
M2 3x0 4 P11 20 T 23 P4 | 28 | 33 UNGC5-40-100L 40 Eg?ﬁg_ 1?1;%'} o
M2. 3x0. 4L )% F p1| 24 | 28  M8.0x0. 75L& F P2 | 33 | 39 _UNF5-44 P2 | 28 | 31 =
- Y PS1/2-1435i 83
M2. 5x0. 35 P1 | 28 31 M8. 0x1.0 P2 28 33 UNC6-32 P2 20 23 PS3/4-14 5] 105
) . +0.11 22 25 P4 | 28 33 P3 | 20 23 Fleti
2. 5x0. 45 p1l 50 | 53 M8.0x1.OLRZF P2 | 33 | 39 pa | 20 | 23 PSI-113&H 176
po | 50 | 53 M8.0x1.25 +0.1| 28 | 33 UNG6-32-100L 40 PS1-11.1-25%H 176
P3| 20 | 23 P2 | 25 | 31  UNC6-32-AL$EH P2 | 20 .
pal 20 | 53 P3| 25 | 31 UNC6-32-HT#FZE | 1B | 23 | 28 PT1/16-28%H| 33
M2. 5x0. 45-100L 39 P4 | 25 | 31 UNC6-32LRZF P2 | 24 | 28 PT1/8-28%%HI 33
M2, 5x0. 45-AL&BR| P1| 20 | 20  M8.Ox1.25-100L 53 UNF6-40 P2 | 28 | 31 PT1/4-193%H 44
M2. 5x0. 45-HT4R2=| 18| 23 | 28  M8.0x1.25-150L 77 UNC8-32 P2 [ 20 | 23 PT3/8-19%4l 66
.5x0. em PT1/2-14353l) 83
M2. 5x0. 455 F Pl o4 | 55 M8.0x1.25-ALSBA | P2 25 P3 | 20 | 23 =
W2 6x0 35 PI935 M8.0x1.25-HT#FZE | 1B | 31 | 33 P4 | 20 | 23 PT3/A-142%H| 116
M2 6x0. 45 pi| 50 | 23 MB.Ox1.25LKRZF | P2 | 31 | 36  UNG8-32-100L 40 PT1-11 %4 193
S P2 | 20 | 23 M9.0x0.5 P2 | 33 | 40  UNC8-32-AL4RFH P2 | 20
M9. 0x0. 75 P2 | 33 | 40  UNC8-32-HTIFE 1B | 23 | 28 NPT1/8-27%Hl 33
P3| 20 | 23
pal 50 | 53 M9.0x1.0 P2 | 33 | 40  UNC8-32LR F P2 | 24 | 28 NPT1/4-18%H 44
M2, 6x0. 45-100L 39 M9. 0x1. OLR ZF P2 | 42 | 48 _UNF8-36 P2 | 28 | 31 NPT3/8-183H 66
s ALEF | Pl 24 | 28 M9.0x1.25 P2 | 33 | 40  UNC10-24 P2 | 20 | 24 “EHZ—}féEH 18136
DX M10x0. 5 P2 | 35 | 42 P3| 20 | 24 =
M3. 0x0. 35 Dl e oo 7s P2 | 35 | 42 pa | 20 | 24 NPTA-11. 1222 193
P4 | 35 | 42 UNC10-24-100L 40
P3| 20 | 23 5
M10x0. 75L F P2 | 42 | 48  UNC10-24-AL$BFH | P2 | 20
P4 | 20 | 23
M10x1. 0 P2 | 35 | 42 UNC10-24-HT#FZE | 1B | 23 | 28
M3.0x0. 35LRZF | P2 | 24 | 28 P4 | 35 | 42 UNC10-24L 3F P2 | 24 | 29
M3. 0x0. 5 SOT20 28 mioxt oLRSF P2 | 42 | 48 UNF10-32 P2 | 20 | 24
M10x1. 25 P2 | 35 | 42 P3| 20 | 24
P2 | 17 | 20
P4 | 35 | 42 P4 | 20 | 24
PSP 29 mioxt. 25LREF P2 | 42 | 48 UNF10-32-100L 40
PAT 71200 miox1. 5 +0.1| 35 | 42 UNF10-32-HTIFE | 18 31
M3. 0x0. 5-100L 39 P2 | 33 | 40 _UNF10-32LJZ 3 P2 | 31 | 35
M3. 0x0. 5-150L 72 =
L P3 | 33 | 40 "UNC12-24 P2 | 20 | 24
M3.0x0.5-ALERF | P2 | 17 | 17 P4 | 33 | 40  UNF12-28 P2 | 28 | 32
M3.0x0.5-HTHRE | 1B | 20 | 26 1041, 5-100L 61 UNEF12-32 P2 | 28 | 32
M3. 0x0. SL/z 5F P21 20 | 23 mqox1.5-150L 83 UNS12-36 P2 | 28 | 32
M3. 5x0. 6-100L 39 M10x1. 5-AL$S P2 33 UNC1/4-20 P2 | 20 | 24
M4. 0x0. 35 P2120 1 23 M10x1. 5-HTHRE 1B | 39 | 42 P3 | 20 | 24
M4.0x0.5 P21 201 23 m10x1.5LR F P2 | 40 | 46 UNC1/4-20 P4 | 20 | 24
P31 20 1 23 "M11x0.5 P2 | 46 | 55  UNG1/4-20-100L 40
PA1 20 | 23 M11x0.75 P2 | 46 | 55  UNC1/4-20-AL$BFR | P2 | 20
M4. 0x0. 5Lz 7 P20 24 1 28 m11x1.0 P2 | 46 | 55  UNC1/4-20-HT#FE| 1B | 23 | 28
M11x1.5 P2 | 44 | 53 UNC1/4-20LfZ F P2 | 24 | 29

ULEMBAERAZIEE!
?%EEEB&}E&H]%W%M Fiflo

A—1



http://www.mzgtool.com

F H 22 3f/1R 5F

MaiF1x®

Hand Tap/Circular Die

HTFREE4H MRS BE = AR-DA A & R 7F MRS Ip1E BH&
HT Straight Wire Tap FEExKE(/RF) Precision White AR-D Adjustable Circular Die W2 F FEx K B (/R FF)
UNFO-80 P1 18 i UNFO-80
- UNC1-64 P1 18 : UNC1-64 44
UNF1-72 P1 21 : \ UNF1-72 50
UNC2-56 P1 18 UNC2-56 44
UNF2-64 P1 21 UNC3-48 44
UNC3-48 P1 18 UNF3-56 50
UNF3-56 P1 21 UNC4-40 44
UNC4-40 P2 17 — UNF4-48 50
MEAs mE  AG P3| 17 eI UNC5-40 44
B KR (/R precision  white  [INZE) P2 PR 7507 Sk (/R ) Em UNC6-32 44
M1. 0x0. 25 P1 18 (N o = 0 moxo.2s 20 | 139 (NS0 2
M1.2x0.25 P1 18 mimes = o M1.2x0.25 20 55 D s
M1. 6x0. 35 P1 18 i ML 4x0.3 20 55 "
M1.7x0. 35 P1 15 R o S0 M5x0.3 20 55 i pe:
M1. 8x0. 35 P1 E Re o M.6x0.35 20 55  DINEEEE ']
M2. 0x0. 25 P1 20 A o ML7x0.35 20 55 CRRE TR s
M2. 0x0. 4 P2 17 e o 50 M1:8x0.35 20 551 RN o
P3 17 TUNc10-24 P2 17 M2.0x0.25 20 50" UNF1/4-28 50
P4 17 UNF10-32 P2 20  M2.0x0.4 20 44 UNS1/4-32 50
2. 2x0. 25 P1 20 g = T M2.0x0.ALRFF 20 50  NESEIR o
M2. 2x0. 45 P2 17 InEch o 50 M22x0.25 20 ol o
M2. 3x0. 25 P1 20, CRARIIo. . T M2.2x0.45 20 44 BREEE =
M2. 3x0. 4 P2 17, i % 5o M2.3x0.4 20 44 [N e
M2. 5x0. 35 P 20 [HEpE o % M2.5x0.35 20 O 2
M2. 5x0. 45 E§ ]; UNCG5/16-18 P3 22 M%- 5"8- 35 20 44 UNeT/16-14 50
51 17 UNF5/16-24 P3 26 mz- 2"0- 32'-&5' 20 20— UNF7/16-20 55
UNEF5/16-32 P3 28 - 6x0. 20 UNC1/2-12 50
M2. 6x0. 35 =) 20 Wi = o o M2.6x0.45 20 44 S o
M2. 6x0. 45 P2 17 ImET oA b 5, WM30x0.35 20 50
gi ]; UNEF3/8-32 P3 34 mg gxg- gL&% gg ‘5‘3 W1/8-40 20 44
R & Si— UNe7/16-14 P3 39 AB.0x0.5L 2 20— Ws/32-32 20 44
M. oxo' 5 P2 14 UNF7/16-20 P3 44 MA. oxo' 5 20 W3/16-24 20 44
- 0. UNC1/2-13 P3 39 - 0x0. 20 W1/4-20 20 44
el 14 uNF12-20 P3 | 44 M4.0x0.7 2001 4 ws/16-18 25 | 50
P4 14 M4. 0x0. 7Lz 20 50 W3/8-16 25 50
M3. 5x0. 35 P2 0 mmum M4.5x0. 5 20 com | 1 o o
M3. 5x0. 6 P2 (L iy A s MA5x0.75 20 44_- o JSUER 53 o
P3 14 PS1/8-272| 28 M5. 0x0. 35 20 50
P4 14 pst/g-28 5k o5 M5.0x0.5 20 50
4. 0x0. 35 P2 20 pet7at4m 51 M5.0x0.8 20 44
M4. 0x0. 5 P2 20 psira1s2a 13 M5.0x0.8LEF 20 50
M4. 0x0. 7 P2 14 pst/a-19 ki 33 M6.0x0.5 20 50
P3 14 b33 1pn| So o M6.0x0.75 20 50
P4 14 PS3/8—19§$U 55 Mﬁ. 0X1. 0 20 44
M4. 0x0. 75 P2 20 p2o 14k 2 M6.0x1.OLRF 20 50
M4. 5x0. 5 P2 20 pat/o-14mm 25 N7.0x0.5 25 55
M4. 5x0. 75 P2 15 ps3/aq4me] s WM7.0x0.75 25 55
M5. 0x0. 35 P2 20 pii11A) Yoo M7.0x1.0 25 50
M5. 0x0. 5 P2 20 p_11 y o 5o WB.0x0.5 25 55
M5. 0x0. 8 P2 15 : M8. 0x0. 75 25 55
P3 15 e M8. Ox1. 0 25 55
P4 15 Eﬂfgﬁzggﬁ“ 2% wgoxti2s 25 50
M6. 0x0. 35 ) 22 pia-tommi S MB.Ox1.25LF % 25 55
M6. 0x0. 5 P2 20 pras-10ma o M9.0x0.5 25 55
M6. 0x0. 75 P2 20 pri/a-1azs 0, M9.0x0.75 25 55
M6. Ox1. 0 P2 15 pr3/a-14%e] 05 M9.0x1.0 25 55
P3 15 prio11ZE4 70 M9.0x1.25 25 50
P4 15 M10x0. 5 25 55
M7.0x0.5 P2 26 _ M10x0. 75 25 55
W7. 0x0. 75 P2 | 26 Nor/airZEl 2% moxi o 25 | 55
M7.0x1. 0 P2 22 \pT3vs-18%4i 2 W0x1.25 25 55
M8. 0x0. 35 P2 3 NPT1/2-1454 2 Wox1.5 25 50
M8. 0x0. 5 P2 2% NPT1/4-14%] 05 MOx1.5LEF 25 55
M8. 0x0. 75 P2 2 NPTIA1. 125 9. Miixi0 25 50
M8. Ox1. 0 P2 26 : M12x0.5 25 55
M8. Ox1. 25 P2 22 M12x0. 75 25 55
P3 22 M12x1. 0 25 55
M9. 0x0. 5 P3 34 M12x1. 25 25 55
M9. 0x0. 75 P3 34 M12x1.5 25 55
M9. Ox1. 0 P3 34 M12x1. 75 25 50
M9. Ox1. 25 P3 29 M12x1. 75L/% 5F 25 55
M10x0. 5 P3 34 M14x1.0 38 105
M10x0. 75 P3 34 M14x1. 25 38 105
M10x1. 0 P3 34 M14x1.5 38 105
M10x1. 25 P3 34 M14x2. 0 38 99
M10x1.5 P3 29 M16x1. 0 38 105
P4 29 M16x1. 25 38 105
M11x0.5 P3 14 M16x1.5 38 105
M11x0. 75 P3 44 M16x2. 0 38 99
M11x1.0 P3 44
M11x1.5 P3 39
M12x0.5 P3 44
M12x0. 75 P3 44
M12x1. 0 P3 44
M12x1. 25 P3 44
M12x1.5 P3 44
M12x1. 75 P3 39
P4 39
M14x2. 0 P3 44
M16x2. 0 P3 55
AENMIEREHA SIS
l’/{J:ﬁl % NE N E%' j:-:-l_:.l:-:-l
B 1T 2 AR ERASN 25
MRS R FFAREBFF N E Mo



http://www.mzgtool.com

MaiF1x®

ZHITIR

Turning Inserts

MBS

SEHIRE MigH = TR [
CCGT060202 CBN1 0.2 28.5
CCGT060204 CBN1 0.4 28.5
CCGT060208 CBN1 0.8 28.5
CCGT09T302 CBN1 0.2 28.5
CCGT09T304 CBN1 0.4 28.5
CCGT09T308 CBN1 0.8 28.5
CCGT120402 CBN1 0.2 28.5
%ﬁgfgﬁﬂ CCGT120404 CBN1 0.4 28.5
b CCGT120408 CBN1 0.8 28.5
i CCGT060202 PCD1 0.2 28.5
| CCGT060204 PCD1 0.4 28.5
- CCGT09T302 PCD1 0.2 28.5
CCGT09T304 PCD1 0.4 28.5
CCGTO09T308 PCD1 0.8 28.5
CCGT120402 PCD1 0.2 28.5
CCGT120404 PCD1 0.4 28.5
HERNT CCGT120408 PCD1 0.8 28.5
CCGT060202-AL ZKO1 0.2 5
CCGT060204-AL ZKO1 0.4 5
CCGT060208-AL ZKO1 0.8 5
CCGT09T302-AL ZKO1 0.2 5.8
CCGTO9T304-AL ZKO1 0.4 5.8
CCGTO9T308-AL ZKO1 0.8 5.8
CCGT120402-AL ZKO1 0.2 9.8
k] CCGT120404-AL ZKO1 0.4 9.8
ML CCGT120408-AL ZKO1 | 0.8 9.8
CCMT060204 ZM30 0.4 6.8
CCMT060208 ZM30 0.8 6.8
CCMTO09T304 ZM30 0.4 7.2
CCMT09T308 ZM30 0.8 7.2
CCMT120404 ZM30 0.4 10
CCMT120408 ZM30 0.8 10
CCMT060204-FG ZN60O 0.4 7.2
CCMT09T304-FG ZN60 0.4 8
CCMTO9T308-FG ZN60 0.8 8
CCMT060202-HQ ZN60 0.2 7.2
CCMT060204-HQ ZN60O 0.4 7.2
CCMT09T302-HQ ZN60 0.2 8
CCMTO09T304-HQ ZN60 0.4 8
CCMT060204-MT ZN60 0.4 7.2
CCMTO09T304-MT ZN60 0.8 8
CCMTO9T308-MT ZN60 0.8 8
CCGT060202EL-U ZN90 | 0.2 16.5
CCGT060204EL-U ZN90 | 0.4 16.5
CCGTO9T302EL-U ZN90 | 0.2 16.5
CCGTO9T304EL-U ZN90 | 0.4 16.5
CCGT060202ER-U ZN90 | 0.2 16.5
CCGT060204ER-U ZN90 | 0.4 16.5
CCGTO9T302ER-U ZN90 | 0.2 16.5
CCGTO9T304ER-U ZN90 | 0.4 16.5

6 CNMG120402 CBN 0.2 | 285
: CNMG120404 CBN1 0.4 | 28.5
h CNMG120408 CBN1 08 | 285
B REEM ST
g CNNMG120402 PCD1 0.2 | 285
CNNMG120404 PCD1 0.4 | 285
h CNMG120408 PCD1 0.8 | 28.5
fEEBREMT

@& CNMG120404-TM 2625 | 0.4 | 10.8
LT o CNNMG120408-TM ZC25 | 0.8 | 10.8
p— CNMG120412-TM 2C25 | 1.2 | 10.8

@M
CNMG120408R-X 2625 | 0.8 | 10.8
CNMG120408L—X 2C25 | 0.8 | 10.8
CNMG120404-TM €35 | 0.4 | 10.8
CNMG120408-TM ZC35 | 0.8 | 10.8

BEPLE M
CNMG120404-HA ZKO1 | 0.4 | 8.5
CNNMG120408-HA ZKO1 | 0.8 | 8.5
CNMA120404 ZK50 0.4 | 10.8
CNMA120408 ZK50 0.8 | 108

HHmmT
CNMG120404 ZK50 0.4 | 10.8
CNMG120408 ZK50 0.8 | 108

Sk sE T
CNMG120408-HS ZM30 | 0.8 | 10.8

THENGEN T
CNMG120404-MA ZM30 | 0.4 | 10.8
CNNMG120408-MA ZM30 | 0.8 | 10.8
CNMG120404-MS ZM30 | 0.4 | 10.8
CNNMG120408-MS ZM30 | 0.8 | 10.8
CNMG120404-HQ ZN60 | 0.4 | 9.3
CNMG120408-HQ ZN60 | 0.8 | 9.3
CNMG120404-TS ZN60 | 0.4 | 9.3
CNMG120408-TS ZN60 | 0.8 | 9.3

SERRETHABTRY

ULMBASHAZEE!
MIETIB IEFRARENEF N il

A—1



http://www.mzgtool.com

ZHI TR MaiFix®

Turning Inserts

oy EiEk MigE S TISR B4 YRR
DCGT070202 BN 0.2 | 28.5 :
DCGT070204 CBNT 0.4 | 28.5 Q
DCAT070208 CEN 0.8%7 28.5 DNMA150404 CBN( 0.4 | 285
DCGT11T301 CBN1 0.1 | 28.5 DNMA150408 CBN1 0.8 |28.5
DCGT117T302 CBNT 0.2 | 28.5
DCGT117T304 CBNT 0.4 | 28.5 o
DCGT11T308 CBN1 0.8 28.5 SRR AR T
o M T DCGW11T308 CBNT 0.8 | 28.5 N
2 3 DCGT070201 PCDT 0.1 | 28.5
: DCGT070202 PCDT 0.2 | 28.5 DNMA150404 PGDT 0.4 | 285
DCGT070204 PCDT 0.4 | 28.5 DNMA150408 PCDT 0.8 | 285
DCGT070208 PCDT 0.8 | 28.5
DCGT117301 PCDT 0.1 | 28.5 e
DCGT117302 PCDT 0.2 | 28.5 LU
DCGT117304 PCDT 0.4 | 28.5
wERMT DCGT11T308 PCD1 0.8 | 28.5 DNMG150404-HA ZKO1 0.4 |18.2
DNMG150408-HA ZKO1 | 0.8 | 18.2
- 9 . DNMG150604-HA ZKO1 | 0.4 | 20.3
o IO I DNMG150608-HA ZKO1 | 0.8 | 20.3
DCGT11T302-AL ZKO1 | 0.2 | 6.5
DCGT11T304-AL ZKOT | 0.4 | 6.5
DCGT11T308-AL ZKOT | 0.8 | 6.5

DNMG110404-FG ZN60 0.4 |10.8

DCMT070204-MV ZM30 0.4 | 6.8
DCMT11T304-MV ZM30 0.4 | 7.2
TP PEMT
DNMG150404-HQ ZN60 | 0.4 | 10.8
DCMT11T304 ZM30 0.4 7.2 DNMG150408-HQ ZN60 0.8 |10.8
DCMT11T308 ZM30 0.8 | 7.2
THPPEMIT
T AR 25 a7 5 DNMG150404L-VF ZN60 | 0.4 | 10.8
DCMT11T302-FA ZN60 0.2 | 7.9
DCMT11T304-FG ZN60 0.4 | 7.9 M AR
DNMG150404R-VF ZN60 | 0.4 | 10.8
DCMT070202-HQ ZN60 0.2 | 7.2 e
DCMT070204-HQ ZN60 0.4 | 7.2 L R e R
DCMT11T302-HQ ZN60 0.2 | 7.9
DCMT11T304-HQ ZN60 0.4 | 7.9
DCGT11T302FL-U ZN9O | 0.2 16.5
DCGT11T304FL-U ZN90 | 0.4 | 16.5
DCGT11T302FR-U ZN9O | 0.2 16.5
DCGT11T304FR-U ZN90 | 0.4 | 16.5

ULMBASHAZEE!
WIS IR RIEFAVREEF Y W



http://www.mzgtool.com

MaiF1x®

ZHITIR

Turning Inserts

LR SLHRIR MigR S TIRR i
TBGT060102 CBN1 0.2 | 28.5
@ TCGT110302 CBN1 0.2 | 28.5
TCGT16T302 CBN1 0.2 | 28.5
m mg}’;’gjgg ggm 8;1 322 TCGT16T304 CBN1 0.4 | 28.5
: ' TCGT16T308 CBN1 0.8 | 28.5
e R EEA RN T TPGT080202 GBN1 0.2 | 28.5
. ket TPGT080204 CBN1 0.4 | 28.5
~ TPGT090202 CBN1 0.2 | 28.5
TPGT090204 GBN1 0.4 | 28.5
a 25%3138383 Egg] 0 %g-g TPGT110202 CBN 0.2 | 285
i - : TPGT110204 CBN1 0.4 | 28.5
TPGT110302 CBN1 0.2 | 28.5
@M T TPGT110304 CBN1 0.4 | 28.5
Sk REBHRE T TPGT110308 CBN1 0.8 | 28.5
TBGT060102 PCD1 0.2 | 28.5
SNMG120408L-S 2C25 | 0.8 | 10.8 TCGT110202 PCD1 0.2 | 28.5
TCGT110204 PCD1 0.4 | 28.5
| s TCGT110304 PCD1 0.4 | 28.5
y e TCGT16T302 PCD1 0.2 | 28.5
il 1 RS TCGT16T304 PCD1 0.4 | 28.5
. TCGT16T308 PCD1 0.8 | 28.5
TPGT080202 PCD1 0.2 | 28.5
SNMG120408L-S 2C35 | 0.8 | 10.8 TPGT080204 PCD1 0.4 | 28.5
TPGT090202 PCD1 0.2 | 28.5
TPGT090204 PCD1 0.4 | 28.5
RERLE AT TPGT110204 PCD1 0.4 | 28.5
: TPGT110302 PCD1 0.2 | 28.5
[ < M T TPGT110304 PCD1 0.4 | 28.5
: i SNMG120408R-S 2C25 | 0.8 | 10.8
i il | TBGT060102L ZN9O 0.2 | 14.5
4 e T TBGT060104L ZN9O 0.4 | 14.5
o, TCGT110202L ZN9O 0.2 | 14.5
TCGT110204L ZN9O 0.4 | 14.5
_ TPGH080202L ZN9O 0.2 | 14.5
SNMG120408R-S 2C35 | 0.8 | 10.8 > 7 TPGH080204L ZN9O 0.4 | 14.5
| —— TPGH090202L ZN9O 0.2 | 14.5
TPGH090204L ZN9O 0.4 | 14.5
REREFENT TPGH110302L ZN9O 0.2 | 14.5
TPGH110304L ZN9O 0.4 | 14.5
SNMG120408-TM 2625 | 0.8 | 10.8 AR
\ TBGTO60102L-W ZN9O | 0.2 | 14.5
Py TBGTO60104L-W ZN9O | 0.4 | 14.5
e ‘ TPGT080202L-W ZN9O | 0.2 | 14.5
%@ o TPGT080204L-W ZN9O 0.4 | 14.5
o ~ y = TPGT090202L-W ZN9O | 0.2 | 14.5
B 1l | gmecnaoed oo oo £ |mmmam i) i
g ,—-;Qﬁ : : ) TPGT110302L-W ZN9O | 0.2 | 14.5
PRl m%ﬁgfl TPGT110304L-W ZN9O 0.4 | 14.5
A BT
W Vs TCMT090202-HQ ZN60 | 0.2 | 7.2
. TCMT090204-HQ ZN6O | 0.4 | 7.2
SNMG120408-MA ZM30 0.8 10.8 e TCMT110202-HQ ZN60 0.2 7.2
s TCMT110204-HQ ZN6O | 0.4 | 7.2
’f“\ TCMT110208-HQ ZN6O | 0.8 | 7.2
FERBHEMT (DT TCMT16T304-HQ ZN6O | 0.4 10
S EBETRLEEST TPMT110304-HQ ZN60 0.4 7.2
SNMG120404-NS ZM30 | 0.4 | 10.8 ek 08 | 7.2
TCGT090202-AL ZKO1 0.2 | 58
. TCGT090204-AL ZKO1 0.4 | 58
4% TCGT110202-AL ZKO1 0.2 | 58
SNMG120404-HQ ZN60 0.4 9.5 f) N TCGT110204-AL ZKO1 0.4 5.8
SNMG120408-HQ ZN60 | 0.8 | 9.5 = ) TCGT110302-AL ZKO1 0.2 6.5
I TCGT110304-AL ZKO1 0.4 | 6.5
it— TCGT16T302-AL ZKO1 | 0.2 7
TCGT16T304-AL ZKO1 0.4 7
TCGT16T308-AL ZKO1 0.8 7
SCMT09T304-MT ZN60 | 0.4 | 8 RBFHMT
SRS T
SCGT09T304-AL ZKO1 0.4 | 5.8 TCMT110204 ZM30 0.4 | 6.8
SCGT09T308-AL ZKO1 0.8 | 5.8 TCMT110208 ZM30 0.8 | 6.8
SCGT120404-AL ZKO1 0.4 | 8.5 TCMT16T304 ZM30 0.4 | 9.5
SCGT120408-AL ZKO1 0.8 | 8.5 TCMT16T308 ZM30 0.8 | 9.5
$HiE BT FERTEMI
\ A AL %, AL S—
UENIBAEHASEEE! A7

MIETIB IEFRARENEF N il



http://www.mzgtool.com

ZHI TR MaiFEix®

| X

Turning Inserts

SRR MIgE S
® / \ TNMG160404LC ZN6O | 0.4 | 8
. TNMA160402 CBN1 0.2 | 285 @\ TNMG160408L-C ZN60 | 0.8 8
TNMA160404 CBN1 0.4 | 285
TNMA160408 CBN1 0.8 | 285 TNMG160404R-C ZN6O | 0.4 8
R-C LC TNMG160408R-C ZN60 | 0.8 8
o REB AN T &R IR K
Q TNMG160404L-S ZN60O 0.4 8
TNMA160402 PCD1 0.2 | 28.5 TNMG160408L-S ZN6O | 0.8 8
TNMA160404 PCD1 0.4 | 285
TNMA160408 PCD1 0.8 | 28.5 TNMG160404R-S ZN6O | 0.4 8
TNMG160408R-S ZN6O | 0.8 8
EEEEE T
TNMG160404-CQ 2C25 | 0.4 | 9.5 TNMG160404L-VF ZN60 | 0. 4 8
TNMG160408-CQ 2625 | 0.8 | 9.5 TNMG160408L-VF ZN60 | 0.8 8
TNMG160404-HQ 2C25 | 0.4 | 9.5 TNMG160404R-VF ZN60 | 0. 4 8
TNMG160408-Ha 2625 | 0.8 | 9.5 R-VF L-VF TNMG160408R-VF ZN60 | 0.8 8
SRMEPEKEELY
TNMG160404L-S 2625 | 0.4 | 9.5 TNMG160404L—FS ZN60 | 0.4 8
TNMG160408L-S 2625 | 0.8 | 9.5 TNMG160408L—FS ZN60 | 0.8 8
TNMG160404R-S 2625 | 0.4 | 9.5 TNMG160404R-FS ZN60 | 0.4 8
R-S L-S TNMG160408R-S 2625 | 0.8 | 9.5 R-FS L-FS TNMG160408R-FS ZN60 | 0.8 8
et AmT SRBED L EEY
TNMG160404L-S 2C35 | 0.4 | 9.5
TNMG160408L-S 2635 | 0.8 | 9.5 TNMG160404-HQ ZN60 | 0.4 .
TNMG160404R-S 2C35 | 0.4 | 9.5 ey 0.8 | B
R TNMG160408R-S 2635 | 0.8 | 9.5
REREFEMT SRBESE T
= TNMG160404-TM 2625 | 0.4 | 9.5 4 ~
B8 TNG160408-TH 2625 | 0.8 | 9 5 éQ; TH160404 0T ZN60 | 0.4 | 8
L TNMG160412-TM 2625 | 1.2 | 9.5 —— :
AEEEMT S REENRAERY
TNMG160404-TM 2635 | 0.4 | 9.5 TNMG160404-TS ZN60 | 0.4 8
TNMG160408-TM €35 | 0.8 | 9.5 TNMG160408-TS ZN60 | 0.8 8
REAE RN T &R R KR
TNMG160402-HA ZKO1 | 0.2 | 8
TNMG160404-HA ZKO1 | 0.4 | &
TNMG160408-HA ZKO1 | 0.8 | 8
FEEPHEMT
TNMA160404 ZK50 0.4 | 9.5
TNMA160408 ZK50 0.8 | 9.5
TNMG160404 ZK50 0.4 | 9.5 - '
TNMA TNHGE TNMG160408 ZK50 0.8 | 9.5 /_t ,\ mgglggjgitzg %ngg 02 1 18
GeEMT  HEERMT O;; ‘:.) :
P —~ .2 1
TNMG160404-HA ZM30 | 0.4 | 9.5 TNGGT60402R"P ZN50 | 0 3
R-P L.p TNGG160404R-P ZN9O | 0. 15
TNMG160408-HA ZM30 | 0.8 | 9.5 P A v
TNMG160404-MA ZM30 | 0.4 | 9.5
TNMG160408-MA ZM30 | 0.8 | 9.5
TNMG160404-MQ ZM30 | 0.4 | 9.5
2 \ TNMG160408-MQ ZM30 | 0.8 | 9.5
y N | TNGG160402L-S ZN9O | 0.2 | 15
S—— @ @) | TNGG160404-S ZN9O | 0.4 | 15
A J—-é TNGGT60402R-S ZN9O | 0.2 | 15
R-S L-S TNGE160404R-S ZN90 | 0.4 | 15
, \ TNMG160404-MS ZM30 | 0.4 | 9.5 S RMENE NIk ERE
3 TNMG160408-MS ZM30 | 0.8 | 9.5
TP FEN T

ULMBASHAZEE!
WIS FE TR AN Z5 M.



http://www.mzgtool.com

MaiFix® g e

Turning Inserts

SRR MIgE S JIRR i AR
VBMT110302 CBN1 0.2 | 28.5 P
VBMT110304 CBN1 0.4 | 28.5 - -
VBMT160402 CBN1 0.2 | 28.5 - VNMG160404 CBN1 0.4 | 28.5
1 VBMT160404 CBN1 0.4 | 28.5 VNMG160408 CBN1 0.8 | 28.5
. VBMT160408 CBN1 0.8 | 28.5
VCGT110302 CBN1 0.2 | 28.5 ket S RS
VCGT110304 CBN1 0.4 | 28.5
VCGT110308 CBN1 0.8 | 28.5
VOGT160402 CBNI 02 | %85 . VNMG160402 PCD1 0.2 | 28.5
VCGT160404 CBN1 0.4 | 28.5 VNMG160404 PCD1 0.4 | 285
VCGT160408 CBN1 0.8 | 28.5 VNMG160408 PCD1 0.8 | 28.5
FHRAEHREM T VCGT160412 CBN1 1.2 | 28.5 ]
ek Ek oy
VBGT110301 PCD1 0.1 | 28.5
xggmgggﬁ Egg] 8‘21 gg-g VNMG160404-TM 2C25 | 0.4 | 11.5
Vel e 0a | s e VNMG160408-TM ZC25 | 0.8 | 11.5
VBGT160402 PCD1 0.2 | 28.5
VBGT160404 PCD1 0.4 | 28.5 M T
VBGT160408 PCD1 0.8 | 28.5
. VCGT110301 PCD1 0.1 | 28.5
VCGT110302 PCD1 0.2 28.5 VNMG160404-TM ZC35 0.4 11.5
VCGT110304 PCD1 0.4 28.5 VNMG160408-TM ZGC35 0.8 11.5
VCGT110308 PCD1 0.8 | 28.5
VCGT160401 PCD1 0.1 | 28.5 — =«
VCGT160402 PCD1 0.2 | 28.5 L
VCGT160404 PCD1 0.4 | 28.5
VCGT160408 PCD1 0.8 | 28.5
M T VCGT160412 PCD1 1.2 | 28.5 VNMG160404-AL ZKO1 0.4 | 9.8
VNMG160408-AL ZKO1 0.8 | 9.8
VBGT110302-AL ZKO1 0.2 5
VBGT110304-AL ZKO1 0.4 5
VBGT160402-AL ZKO1 0.2 | 8.6
VBGT160404-AL ZKO01 0.4 | 8.6
VBGT160408—-AL ZKO01 0.8 8.6 VNMG160404 ZM30 0.4 1.5
VNMG160408 ZM30 0.8 | 11.5
VCGT110302-AL ZKO1 0.2
VCGT110304-AL ZKO1 0.4
VCGT160402-AL ZKO1 0.2 | 8.6 THRAFANT
VCGT160404-AL ZKO1 0.4 | 8.6
HEd M T VCGT160408-AL ZKO1 0.8 | 8.6
VNMG160404-HS ZM30 | 0.4 | 11.5
VNMG160408-HS ZM30 | 0.8 | 11.5
VBMT160404-MV ZM30 | 0.4 | 15.8 .
VBMT160408-MV ZM30 | 0.8 | 15.8 il 1. Ll LB
VNMG160404-MT ZN60 | 0.4 | 9.5
VNMG160408-MT ZN60 | 0.8 | 9.5
VBMT110304-HQ ZN60 | 0.4 | 11.5 SR BETHELEL S
VBMT160404-HQ ZN60 | 0.4 | 14.5
VBMT160404-MT ZN60 | 0.4 | 14.5
VBGT110302L ZN90 0.2 20
VBGT110304L ZN90 0.4 20
S EMEREM I EE T
//* -
L _ VBGT110302R-Y ZN90 | 0.2 20
' VBGT110304R-Y ZN9O | 0.4 20
SEBEEE M T
N /N P jﬁ AN —
U EMIEAREFHRASIEER! A7

MIETIB IEFRARENEF N il



http://www.mzgtool.com

ZHITIR

Turning Inserts

MaiF1x®

SRR
@ OB oa oo e 282 _ Q ‘ WNMGOBO404-MA ZM30 | 0.4 | 10.8
‘ WNMG080412 CBN1 1.2 | 28.5 ﬁ WNMGOB0408-MA ZM30 0.8 | 10.8
et AR M T TE@EEMT
#NMAO80402 PCD1 0.2 | 28.5 WNMGO80404-MQ ZM30 | 0.4 | 10.8
WNNAQB0404 PCD1 0.4 | 28.5 WINMGOB0408-NMQ ZM30 | 0.8 | 10.8
WNMAO80408 PCDT 0.8 | 28.5 : :
wEEmT AE@bEmT
AN,
STANSS _
@l WNMG0B0404-GQ ZC25 | 0.4 | 10.8 WNMGOB0404-MS ZM30 | 0.4 | 10.8
A AN WNMGO80408-CQ ZC25 | 0.8 | 108 g
s TR THAEHMT
/ ]
s L N i
( J3 WNMGO80404-HQ ZC25 | 0.4 | 10.8 @ WINMGOB0404-HS ZN6O | 0.4 | 9.5
WNMGO80408-HQ €25 | 0.8 | 108 4 o WINMGOBO408-HS ZN6O | 0.8 | 9.5
mepEmT SRMEHBAER
7 - a WNMGOB0404L-S ZC25 | 0.4 | 10.8 O
ﬂ / =23 WNMGO80408L-S ZC25 | 0.8 | 10.8 WNMGOB0404-Ha ZN60 | 0.4 | 9.5
u UL | WNMGOB0404R-S ZC25 | 0.4 | 10.8 e 08 | 75
L-S WNMGOS0408R-S ZC25 | 0.8 | 108
m#¢mm1
WNMGO80404L-S ZC35 | 0.4 | 10.8 WNMGOBO404L—X ZN6O | 0.4 | 9.5
WNMGO80408L-S 7C35 | 0.8 | 108 WINMGOBO408L-X ZN60 | 0.8 | 9.5
WNMGOB0404R-S ZC35 | 0.4 | 10.8 WNMGOBO404R—X ZN6O | 0.4 | 9.5
WNMGOBO408R-S 7C35 | 0.8 | 108 R-S s WINMGOBO408R-X ZN6O | 0.8 | 9.5
ﬁﬁm@¢mm1
- WNMGO80404-TM ZC25 | 0.4 | 10.8
. WNMGOB0408-TM 2C25 | 0.8 | 10 8 o soaoa T 2N | 0g | o2
—i- WNMGO80412-TM ZC25 1.2 | 10.8 : :
TMZC25  TM ZC35
@t g T
WNMGOB0408-CM ZC25 | 0.8 | 10.8 WNMG080404-TS ZN6O | 0.4 | 9.5
WNMGO80412-CM ZC25 | 1.2 | 10.8 WNMGOBO408-TS ZN60 | 0.8 | 9.5
WNMGO80402-HA ZKO1 | 0.2 | 9.8
WNMGO80404-HA ZKO1 | 0.4 | 9.8
WNMGO80408-HA ZKO1 | 0.8 | 9.8
WNMGOB0404-HA ZM30 | 0.4 | 10.8
WNMGOB0408-HA ZM30 | 0.8 | 108
AEWHEMT
WNMAO80404 ZK50 0.4 | 10.8
WNMAOB0408 ZK50 0.8 | 10.8
B RiEm T
WNMGO80404 ZK50 0.4 | 10.8
WNMGO80408 ZK50 0.8 | 10.8
Geke M T

UEMRAZHAZIZER!
MUSIIRD RIEFAVRENEF N 5=

o



http://www.mzgtool.com

BR ZT]

Thread Turning Tool

MEES

1
=

W2EETP I B

16ER 0501S0 ZP10 0.50 8.6
16ER 075180 ZP10 0.75 8.6
16ER 10010 ZP10 1.00 8.6 16ER 2TR ZP10 2.0 8.6
16ER 125150 ZP10 1.25 8.6 16ER 3TR ZP10 3.0 8.6
16ER 150180 ZP10 1.50 8.6
]ggg %g:gg %E}g ; gg 2-2 SORETRES 151 1 F S TSN R
- 16ER 250180 ZP10 2.50 8.6
2P0 @AM T 16ER 300180 ZP10 3.00 8.6
16ER 3501S0 ZP10 3.50 8.6
’\ 16ER A6D ZP10 0.5-1.5 | 86 161R 3TR 2910 50 | 8¢
. 16ER AG60 PCD1 0.5-3.0 | 28.5
16ER AG60 ZP10 0.5-3.0 | 8.6 .
16ER G60 ZP10 1.5-3.0 8. 6 S0ETRIZIEZ I A Ag s
22ER 350150 ZP10 3.50 21.5
22ER 400180 ZP10 4.00 | 21.5 ERmT
22ER 500150 ZP10 5.00 21.5 16ER 11W ZP10 1SH11F | 8.6
PCDY 448 M T 22ER 6001S0 ZP10 6.00 21.5 16ER 14W ZP10 15H145F | 8.6
o s g s mT | 22ER N6O ZP10 3.5-5.0 | 21.5 16ER 19W ZP10 15H19F | 8.6
16ER 24W ZP10 15124 | 8.6
SER1616H16 - 38 16ER 8W ZP10 15183 | 8.6
SER2020K16 - 38 PGD1 16ER A55 ZP10 0.5-1.5| 8.6
SER2525M16 - 49 MEEHEm T x 16ER AG55 PCD1 0.5-3.0| 28.5
SER2020K22 X\ 50 16ER AG55 ZP10 0.5-3.0| 8.6
' SER2525M22 - 69 3 16ER G55 ZP10 1.5-3.0| 8.6
B-SEL ser | SER3232P22 - 106 || 22ER N55 ZP10 3.5-5.0| 21.5
B-SEL1212H16 - 50
B-SEL1616H16 _ 50 55F EHIh R BRI T
. B-SEL2020K16 - 50 P10 ]
reERamt B-SEL2525M16 3 69 BRRE 06IR A55 ZP10 0.5-1.25| 20
06IR A60 ZP10 0.5-1.25 | 20 08IR A55 ZP10 0.5-1.5| 17.5
08IR 150180 ZP10 1.50 17.5 111R 19W ZP10 15H19F | 8.6
08IR A40 ZP10 0.5-1.5 | 17.5 161R 11W ZP10 15115 | 8.6
111R 150180 ZP10 1.5 8.6 16IR 12W ZCO1 15H127F | 8.6
111R 2001S0 ZP10 2.0 8.6 161R 14W ZP10 15H14F | 8.6
111R A60 ZP10 0.5-1.5 | 8.6 i 16IR 19W ZP10 157195 | 8.6
16IR 050180 ZP10 0. 50 8.6 16IR A55 ZP10 0.5-1.5| 8.6
161R 0751S0 ZP10 0.75 8.6 16IR AG55 PCD1 0.5-3.0| 28.5
16IR 100180 ZP10 1. 00 8.6 161R AG55 ZP10 0.5-3.0| 8.6
P10 16IR 125180 ZP10 1.25 8.6 16IR G55 ZP10 1.5-3.0| 8.6
i AT 161R 150180 ZP10 1.50 8.6 . 22IR N55 ZP10 3.5-5.0| 21.5
16IR 175180 ZP10 1.75 8.6 . o
161R 200150 ZP10 200 | 86 — SR RN AN L
161k 300150 P10 | 200 | 8¢ 16ER 120N P10 | 1125 | B.¢
16IR 350180 ZP10 350 | 8.6 16ER 14UN ZP10 1541458 | 8.6
161R A6 ZP10 0.5-1.5 | 86 16ER 16UN ZP10 157165F | 8.6
16IR AG60 PCD1 0.5-3.0 | 28.5 16ER 18UN ZP10 13185 | 8.6
16IR AG60 ZP10 0.5-3.0 | 8.6 16ER 20UN ZP10 157205 | 8.6
16IR G60 ZP10 1.5-3.0 | 8.6 OE SIS 2R B T
22IR 350180 ZP10 3.50 21.5
221R 400150 ZP10 4.00 21.5 16IR 12UN ZP10 157125 | 8.6
PeD1 221R 500180 ZP10 5.00 21.5 16IR 14UN ZP10 1<H14%F| 8.6
ML 22IR 6001S0 ZP10 6. 00 21.5 161R 16UN ZP10 157165F | 8.6
60 A HIR LIRS N T 221R N60 ZP10 3.55.0 | 21.5 16IR 18UN ZP10 1~5F18%F | 8.6
161R 20UN ZP10 151205F | 8.6
SNRO005K06—A12 - 38
SNR0007J08 - 27
SNROOO8BKO8 _ 27 16ER 11BSPT ZP10 1~5H115F | 8.6
16ER 14BSPT ZP10 15H14F | 8.6
SNROO10K11 - 27 16ER 19BSPT ZP10 15H19%F | 8.6
SNROO12M1 1 - 29 16ER 28BSPT ZP10 15128%F | 8.6
SNROO13N16 - 33
SNROO14N16 - 35
SNR0016Q16 - 35
SNROO20R16 - 38 161R 11BSPT ZP10 1~5H115F | 8.6
SNR0025516 - 61 16IR 14BSPT ZP10 15H14F | 8.6
SNR0032T16 - 106
SNROO20R22 - 56
. SNR0025822 - 75
rLRE ML SNR0O032T22 - 120 \
- 16ER 11.5NPT ZP10  [1<F11.5% 8.6
i \ 16ER 14NPT ZP10 15H14%F | 8.6
7 16ER 18NPT ZP10 1718%F | 8.6
4 W _
jé TKFT6001 ZP15 0.5-3.0 | 24.5 wPie FEA B S
TKFT. . TTP.. TTP6001 ZP15 0.5-3.0 | 24.5 ’}a
CONEMZR AN T M T
s 161R 11.5NPT ZP10  [15711.55F 8.6
&TTP.. T1R 16IR 14NPT ZP10 154145 | 8.6
TTPR12 - 49
AR 61 NPTE FRIMTLEE SN T

13 ) Ly ULEN R SHA DT EE!
el USRI OERNREEFN .

A—1



http://www.mzgtool.com

INFEHYIR/YIE/EEEI LT MaiFix®

Cut-Off/Grooving/Back Turning Of Small Parts

MigE S 7% B SR HMigA S Ik i
T16E100 ZP15 1.0 | 12.5 70 TKF12R100-S ZP15 1.0 | 24.5
T16E150 ZP15 1.5 | 12.5 - TKF12R150-S ZP15 1.5 | 24.5
T16E160 ZP15 1.6 | 12.5 Ve B\ TKF12R200-S ZP15 2.0 | 24.5
T16E200 ZP15 2.0 | 12.5 g 3 TKF16R100-S ZP15 1.0 | 27.5
T16E250 ZP15 2.5 | 12.5 N W TKF16R150-S ZP15 1.5 | 27.5
T16E300 ZP15 3.0 | 12.5 T omn T mmiy s | TKF16R200-S ZP15 2.0 | 27.5
0. 5-3mmilE 2. 2 e TKF12R100-S16R ZP15 | 1.0 | 24.5
R IE0. 5 SR 2. Zmm i TKF12R150-816R ZP15 | 1.5 | 24.5
Lk L g B TKF12R200-S16R ZP15 | 2.0 | 24.5
{ ) TKF16R100-S16R ZP15 | 1.0 | 27.5
; SER1616H16 - N W TKF16R150-S16R ZP15 | 1.5 | 27.5
SER1616HH16 - 38 h %‘\ﬁﬂﬂﬁt}]ﬁﬂmul smay | TKF16R200-S16R ZP15 | 2.0 | 27.5
SER2525M16 - 49
T11N100 ZP15 1.0 | 12.5 UNGHEG 227l h 245
T11N150 ZP15 1.5 | 12.5
T11N200 ZP15 2.0 | 12.5 RSN X \{
T16N100 ZP15 1.0 | 12.5 kN
T16N150 ZP15 1.5 | 12.5 |
T16N160 ZP15 1.6 | 12.5
T16N180 ZP15 1.8 | 12.5
T16N200 ZP15 2.0 | 12.5
T16N230 ZP15 2.3 | 12.5 KTKFSL1010JX12 - 63
5950 5-3mmi) 12, 2om | T16N250 ZP15 2.5 | 12.5 KTKFSL1212JX12 - 63
R s ™| T16N300 ZP15 3.0 | 12.5 KTKFSL1212JX16 \ 63
SNROO10K11 - 27
IO - 2 #ENH  KTKFSL. .
SNROOT3N16 - 33 BN, B8, LI, Y6
SNROO14N16 - 35
SNROO16Q16 - 35 KTKFR0810JX12 L 63
SNROO20R16 - 38 KTKFR1010JX12 - 49
SNR0025S16 - 61 KTKFR1212JX12 - 49
KTKFR1616JX12 - 49
16° CTP10FR ZP15 1.0 | 24.5
#o CTP15FR ZP15 1.5 | 24.5 KTKFR1010JX16 - 49
Ve \ﬁ CTP20FR ZP15 2.0 | 24.5 KTKFR1212JX16 - 49
( 3 CTPA10FR ZP15 1.0 | 27.5 KTKFR1616K16 - 49
N W CTPA15FR ZP15 1.5 | 27.5 #£m7Mm KTKFR.. KTKFR2020JX16 - 56
CTPA20FR Z 2. 27. i, B, U, K
i e P15 0 5 BEH, 5, 8, Y
- CTP10FRN ZP15 1.0 | 24.5
i CTP15FRN ZP15 1.5 | 24.5
& B ggf\?gﬁgNZ%% fg %‘7‘2 FVC1604R150 ZP15 1.5 18
‘ : CTPA15FRN ZP15 1.5 | 27.5 FVC1604R200 ZP15 2.0 18
S st s | CTPAZOFRN ZP15 20 | 275 FVV1604R300 ZP15 3.0 18
R CTPSL10 - 56
el S 63 SEE T &R
CTPASL10 - 56
CTPASL12 - 63
CTPSL
CTPASL CTPASL16 - 75
CTPROS - 63
CTPR10 - 49 SVQCR2020K16-NJ - 63
CTPR12 - 49
CTPR16 - 49
CTPR20 - 56
CTPAR10 - 49
CTPAR12 - 49
CTPAR16 - 49
CTPR/CTPAR. . CTPAR20 - 56
CTPAR25 - 75
VC1604R250 ZP15 2.5 18
VC1604R300 ZP15 3.0 18
TTB6001 ZP15 - | 245 HECHEMT BAHE
NEHEELNMT BAHE
TBPR10 - 49
TBPR12 - 49 SGIVFR16016 - 75
SGIVFR20016 - 75
TBPAR10 - 49 SGIVFR25R16 - 88
TBPAR12 - 49
TBPAR16 - 49

SGIVFR. .

UEMRAZHAZIZER!
WIS IR RIEFAVREEF Y W

A—11



http://www.mzgtool.com

. . \ ]
MaiFix® SNEYIFE R ZET]

External Cylindrical Grooving Turning Tool

SEHIHRIE MigH = DIk i SLHIHRIR HigH =S
TGF32L050 ZP15 0.5 | 10.8
s s | 05 | 102
S T oW 108 TGF32L100 ZP15 1.0 | 10.8
16F32R120 ZP15 12 | 108 TGF32L120 ZP15 1.2 | 10.8
TGF32R125 ZP15 1.25 | 10.8 UGFRPLIAS Al 125 10.8
TGF32R130 ZP15 1.3 | 10.8 LTz LD 1.8 | 10.8
T6F32R140 ZP15 12 |08 TGF32L140 ZP15 1.4 | 10.8
e T 1510 8 TGF32L150 ZP15 1.5 | 10.8
16F32R170 ZP15 7 | 108 TGF32L170 ZP15 1.7 | 10.8
e T s | 108 TGF32L180 ZP15 1.8 | 10.8
16F32R200 ZP15 20 | 168 TGF32L200 ZP15 2.0 | 10.8
S T 21 | W% TGF32L210 ZP15 2.1 | 10.8
TGF32R230 ZP15 23 10.8 Ve .\ TGF32L230 ZP15 2.3 10.8
TGF32R250 ZP15 2.5 | 10.8 i )| TGF32L250 ZP15 2.5 | 10.8
TGF32R260 ZP15 2.6 | 10.8 g TEF32L260 ZP15 2.6 | 10.8
16F32R770 ZP15 57 | 108 TGF32L270 ZP15 2.7 | 10.8
Bk TGF32R280 ZP15 2.8 | 10.8 A S 53, 2mm ;giggtggg %E]g 28 | 1
B i TGF32R290 ZP15 2.9 | 10.8 1RO, 8- dmn : :
TGF32R300 ZP15 3.0 10.8 B P R A AR T TGF32L300 ZP15 3.0 10.8
KTGFR1010H16 - 36 KTGFL1010H16 c 36
KTGFR1212H16 - 36 KTGFL1212H16 - 36
KTGFR1616H16 - 36 KTGFL1616H16 - 36
KTGFR2020K16 - 36 KTGFL2020K16 - 36
KTGFR2525M16 - 48 KTGFL2525M16 - 48
KTGFL. .
KTGFR1010H16F - 35 KTGFL1010H16F - 35
KTGFR1212H16F - 35 KTGFL1212H16F - 35
KTGFR1616H16F - 35 KTGFL1616H16F - 35
KTGFR2020K16F o 35 KTGFL2020K16F - 35
KTGFSL1010H16 - 36 KTGFSR1010H16 - 36
KTGFSL1212H16 - 36 KTGFSR1212H16 - 36
KTGFSL1616H16 s 36 KTGFSR1616H16 » 36
KTGFSL2020K16 - 36 KTGFSR2020K16 - 36
KTGFSL2525M16 - 49 KTGFSR2525M16 - 49
KTGFSL. . KTGFSR. .
S16N-KTGFL16 - 49 S16N-KTGFR16 - 49
S200-KTGFL16 - 58 $200-KTGFR16 - 58
S25R-KTGFL16 - 69 S25R-KTGFR16 - 69
S..-KTGFR. .

UEMIRAZHA ZIZER!
RIS IR K IEFAVRENEF Y W



http://www.mzgtool.com

LR IR

SNE/ A FLYITE R %]

External Cylindrical/Inner Hole Grooving Turning Tool

GBA43R250 ZP15 2.5 25.8
GBA43R300 ZP15 3.0 25.8
GBA43R350 ZP15 3.5 25.8
GBA43R400 ZP15 4.0 25.8
GBA43R450 ZP15 4.5 25.8
CGBR1616H43 - 49
CGBR2020K43 - 69
CGBR2525M43 - 86
CGBSL2020K43 - 65
CGBSL2525M43 - 100
SGBR1616H43 - 35
SGBR2020K43 - 35
SGBR2525M43 - 48
SGBSL..
SGBSL2020K43 - 56
SGBSL2525M43 - 75
GBA43L250 ZP15 2.5 25.8
GBA43L300 ZP15 3.0 25.8
GBA43L350 ZP15 3.5 25.8
GBA43L400 ZP15 4.0 25.8
GBA43L450 ZP15 4.5 25.8
E31.0
£ )7R2. 0-5. Omm
M RAT [ H
CGBL. .

CGBL1616H43 ™ 49
CGBL2020K43 - 69
CGBL2525M43 - 86

g CGBSR2020K43 w 65
CGBSR2525M43 - 100
SGBL1616H43 - 35
SGBL2020K43 - 35
SGBL2525M43 - 48

SGBSR..

SGBSR2020K43 - 56
SGBSR2525M43 - 75

=ik

MaiF1x®

GER100-A ZP15 1.0 20
GER150-A ZP15 1.5 20
mAME TERT
S1GERO606A-EH 100
S1GEROB0BA-EH 63
W
S1GEROB0BA-EHT 63
GER100-B ZP15 1.0 20
GER150-B ZP15 1.5 20
GER200-B ZP15 2.0 20
GER250-B ZP15 2.5 20
_ GER300-B ZP15 3.0 20
BAHE NBMT
] S1GER1010B-EH - 63
S1GER1210B-EH - 63
WE R
S1GER1010B—-EHT - 63
S1GER1210B—-EHT — 63
GER100-C ZP15 1.0 | 20
GER150-C ZP15 1.5 | 20
GER200-C ZP15 2.0 | 20
GER250-C ZP15 25 | 20
GER300-C ZP15 30 | 20
GER350-C ZP15 35 | 20
SIGER1412C—EH - 63
% SIGER1616C—EH - 70
WE
SIGER. . %W | SIGER1412C-EH - 63
. GER100-D ZP15 1.0 | 21.5
- GER150-D ZP15 1.5 | 21.5
b GER200-D ZP15 20 | 21.5
GER250-D ZP15 2.5 | 21.5
> GER300-D ZP15 3.0 | 21.5
GER400-D ZP15 40 | 21.5
S1GER2020D~EH 75
S1GER2525D-EH 88
SIGER. . 585 4N
7GR100 ZP15 1.0 | 11
7GR150 ZP15 1.5 | 11
7GR200 ZP15 2.0 | 11
SNGR08JO7 45
SNGR10KO7 45
l|"|l||l' WER
- SNGR10K07 50
ERME IHEMT
= 8GR200 ZP15 20 | 12
8GR300 ZP15 3.0 | 12
BRHR DN SNGR10K08 45
SNGR12M08 48
WER
SNGR10K08 63
WER
9GR100 ZP15 1.0 | 12.5
9GR200 ZP15 2.0 | 12.5
9GR250 ZP15 2.5 | 12.5
9GR300 ZP15 3.0 | 12.5
SNGR12M09 48
SNGR16Q09 58
SNGR20R09 69

BRI AR S IE
ISR RSN &

=4

,

Ho

A—11



http://www.mzgtool.com

MaiFix® Y1¥&E /Y] W B & 7]

Grooving/Cut-Off Turning Tool

SRR HIgHE S DIk I SR Mg E S DIk
GHETBHARENT MGMN150 CBN1 1.5 | 28.5
_ MGMN200 CBN1 2.0 | 28.5 MRMN200-G ZP30 R1.0 | 6.8
MGMN250 CBN1 2.5 | 28.5 MRMN200-M ZP30 R1.O | 6.8
MGMN300 CBN1 3.0 | 28.5 MRMN300-M ZP30 R1.5 | 6.8
MGMN400 CBN1 4.0 | 28.5 MRMN400-M ZP30 R2.0 | 8.2
MGMN500 CBN1 5.0 | 28.5 -G -M
B RP RN T
AEEMT MGMN150 PCD1 1.5 | 28.5
” MGMN200 PCD1 2.0 | 28.5
MGMN250 PCD1 2.5 | 28.5
MGMN300 PCD1 3.0 | 285 MRMN400 CBN1 R2.0 | 28.5
MGMN400 PCD1 4.0 | 28.5
- e ETEA R T SRR T
i R
f || MGEN300 ZP15 3.0 1 65 MGEHR1010-1. 5 1.5 | 48
ﬂ]\l P e i 4. 7.2 MGEHR1010~2 2.0 | 48
) e MGEHR1212-1.5 1.5 | 48
TNOERR mﬁrm&mﬁml MGEHR1212—2 20 48
MGEHR1212-3 3.0 | 48
MGGN200-Q ZP15 2.0 7.2 MGEHR1616-1. 5 1.5 35
\\\ 4// MGGN300-Q ZP15 3.0 7.2 MGEHR1616-2 2.0 35
#0O MGEHR1616-2. 5 2.5 35
ﬂmﬁ%&ﬁmmmmi MGEHR1616-3 3.0 35
MGEHR1616-4 4.0 35
f \ MGGN200 ZKO1 20 | 7.2 MGEHR2020-1. 5 1.5 35
' \ /| MGGN300 ZKO1 3.0 | 8.0 MGEHR2020-2 2.0 35
F 4| MGGN400 ZKOf 40 | 95 MGEHR2020-2. 5 25 | 35
. . - MGEHR2020-3 3.0 35
TIOHERE IR N T MGEHR2020-4 10 35
MGGN150 ZP30 1.5 7.2 MGEHR2020-5 5.0 35
MGGN200 ZP30 2.0 7.2 MGEHR2020-6 6.0 44
/ | MGGN250 ZP30 2.5 7.2 MGEHR2525-1. 5 1.5 48
- \ /| MGGN300 ZP30 3.0 7.2 MGEHR2525-2 2.0 48
F D\ / MGGN400 ZP30 4.0 8.6 MGEHR2525-2. 5 2.5 48
700 R I AT s o T | MGGNSOO ZP30 5.0 | 1.5 MGEHR2525-3 3.0 48
MGGN150R-8 ZP30 1.5 | 7.2 mggnsgggg:g g'g pie
| MGGN200R-8 ZP30 20 | 7.2 WoEHkooon I\l
e /| MGGN250R-8 ZP30 2.5 | 7.9 - :
. ‘ ‘ MGEHR3232-2 2.0 | 86
- \ /| MGGN30OR-8 ZP30 3.0 | 8.6 e 50 | se
8 QO /| MGN40OR-8 ZP30 4.0 | 10.0 . :
MGEN500R-8 ZP30 50 | 12,9 MGEHRe29252 4.0 ) 8
TOWBEER F#mnT : : S E )8 /47) B n T MGEHR3232-5 5.0 | 86
MGEHR3232-6 6.0 | 94
B MGGN150L-8 ZP30 1.5 | 7.2 - TR B ;
= | MGGN200L-8 ZP30 20 | 7.2 i G 2
[ F | MGGN250L-8 ZP30 2.5 | 7.9
\ ) ~ MGEHR1212-1. 5T12 50
g 4 /| MGGN300L-8 ZP30 3.0 | 8.6 R e 2
H MGGN400L-8 ZP30 4.0 | 10.0

MGEHR1616-1. 5T13
MGEHR1616-2T16
MGEHR1616-2. 5T18
MGEHR1616-3T12

TIOMERBA YIEmMT

MGMN150-G ZKO1

POphONS,ROONN=SN=ENS
coococoUoooUIoOUOoUIO WU
I
)

1.5 7.2
MGNN200-G ZKO'1 20 | 7.2 MGEHR1616-3T20 48
MGMN200-M ZKO1 20 | 72 MGEHR1616-4T20 48
MGMN300-M ZKO1 3.0 7.2 MGEHR2020-1. 5T13 50
MGNN40O-M ZKO1 40 | 86 MGEHR2020-2T16 50
MGEHR2020-3T20 50
MGEHR2020-4T20 50
- ) MGEHR2525-3T20 58
MGMN200-G ZN60 2.0 6 FEAM/TERE MGEHR2525-4T20 58
MGUN300-M ZN6O 3.0 7
MGNNA0O-M ZN6O 420 | 85 MGEHL1010-1. 5 48
MGHNS00-M ZN6O 50 | 115 MGEHL1010-2 48
MGEHL1212-1.5 48
MGEHL1212-2 48
MGMN200-T ZP30 20 | 68 MGEHL1616-1.5 35
MGMN300-T ZP30 30 | 68 MGEHL1616-2 35
MGUN40O-T ZP30 40 | 82 MGEHL1616-2. 5 3
MGEHL1616-3 35
MGMN300-H ZP30 30 | 68 MGEHL1616-4 35

MGEHL2020-1. 5
MGEHL2020-2
MGEHL2020-2. 5
MGEHL2020-3
MGEHL2020-4
MGEHL2020-5

MGMN200-G ZP20
MGMN250-G ZP20
MGMN250-M ZP20
MGMN300-M ZP20

ESINININ
oo o
©o oo o
N> 00 00 00 00

COUORWOONRWNNORAWNNSRARWNNSN=ENDS
COO0O0O0O0CO0OUOOOOUOUIOOUIOUTOUTO O
w
a

-G -M MGMN400-M ZP20 MGEHL2525-2 48
AL R IR IR I T MGEHL2525-2. 5 48
MGMN150-G ZP30 1.5 6.8 MGEHL2525-3 48

MGMN200-M ZP30 2.0 6.8 MGEHL2525-4 48

MGMN200-G ZP30 2.0 6.8 MGEHL2525-5 48

MGMN250-M ZP30 2.5 6.8 MGEHL2525-6 56

MGMN250-G ZP30 2.5 6.8 MGEHL3232-3 86

MGMN300-M ZP30 3.0 6.8 MGEHL3232-4 86

-G M MGMN400-M ZP30 4.0 8.2 MGEHL3232-5 86
A1 S 1 v/ 18 0 T MGMN500-M ZP30 5.0 11.5 SR 48 /47) i i T MGEHL3232-6 94

U ENBAESRASEE!
ISR ERAVREEF N E M.

A—1



http://www.mzgtool.com

E/ NI R E T MaiFix®

End Face/lnner Hole Grooving Turning Tool

SRR Migi S 7% BN
MGIVR2016-1.5 1.5 49
MGIVR2016-2 2.0 49
MGHH320R-35/48 3.0 100 MGIVR2016-2. 5 2.5 49
MGHH320R-48/66 3.0 100 MG1VR2016-3 3.0 49
MGHH320R-64/100 3.0 100 MGIVR2520-1. 5 1.5 58
MGHH320R-98/160 3.0 100 MGIVR2520-2 2.0 58
MGHH320R-160/400 3.0 100 MGIVR2520-2. 5 2.5 58
MGHH325R-35/48 3.0 150 MG1VR2520-3 3.0 58
MGHH325R-48/60 3.0 150 MGIVR2520-4 4.0 58
MGHH325R-60/75 3.0 150 MGIVR3125-1.5 1.5 69
MGHH325R-64/100 3.0 150 MG1VR2925-2 2.0 69
MGHH325R-100/140 3.0 150 MGIVR3125-3 3.0 69
MGHH325R-160/400 3.0 150 MGI1VR3125-4 4.0 69
MGHH325R-200,/800 3.0 150 MGI1VR3125-5 5.0 69
MGHH420R-48/60 4.0 100 MG1VR3732-3 3.0 138
MGHH420R-60/75 4.0 100 MGI1VR3732-4 4.0 138
MGHH420R-64/100 4.0 100 MG1VR3732-5 5.0 138
MGHH420R-98/160 4.0 100 MG1VR3732-6 6.0 138
MGHH420R-160/400 4.0 100 ML Y m T
MGHH425R-48/66 4.0 150
MGHH425R-64/100 4.0 150
MGHH425R-100/140 4.0 150
MGHH425R-160/400 4.0 150
MGHH425R-200/800 4.0 150
i T R I AE )6
alalabiialiid ok e MG IVR2520-3T8 3.0 | s
Eprm MG1VR2520-4T8 4.0 81
MGHH320R13-30/50 3.0 115
. MGHH320R15-50/80 3.0 115
MGHH320R17-80/160 3.0 115
L MGHH320R18-160/400 3.0 115
N MGHH325R18-160/400 3.0 125
MGHH420R15-30/50 40 | 115 ki ¢
MGHH420R18-50/80 4.0 115
MGHH420R20-80/160 4.0 | 115 MGIVL2016-1. 5 1.5 49
MGHH425R15-30/50 4.0 | 125 MGIVL2016-2 2.0 49
MGHH425R18-50/80 4.0 125 MGIVL2016-2. 5 2.5 49
MGHH425R20-80/160 4.0 | 125 MGIVL2016-3 3.0 49
MGHH425R20~160-400 4.0 125 mg:xt%g; 8—? 5 f g gg
i EINE 5 —1. -
WHETR R MGIVL2520-2 2.0 | 58
MG1VL2520-2. 5 2.5 58
WEN MGIVL2520-3 3.0 58
MGIVL2520-4 4.0 58
MG1VL2925-2 2.0 69
MGIVL3125-3 3.0 69
MFH216R08-20/140 2.0 88 MGIVL3125-4 4.0 69
MFH320R10-25/140 3.0 113 MGIVL3125-5 5.0 69
MFH325R10-25/140 3.0 129 MGIVL3732-3 3.0 138
MFH420R12-25/140 4.0 113 MG VL3732-4 4.0 138
MFH425R08-25/140 4.0 129 PFLE P mT MGIVL3732-5 5.0 138
MFH425R10-25/140 4.0 129
o E B IRE IEmMT
MGEVR1616-2 2.0 45
MGEVR1616-2. 5 2.5 45
MGEVR1616-3 3.0 45
MGEVR1616-4 4.0 45
MGEVR2020-2 2.0 45
MGEVR2020-2. 5 2.5 45
MGEVR2020-3 3.0 45
MGEVR2020-4 4.0 45
MGEVR2525-3 3.0 58
SMEEIE M T
MGEVL1616-2 2.0 45
MGEVL1616-2.5 2.5 45
MGEVL1616-3 3.0 45
MGEVL1616-4 4.0 45
MGEVL2020-2 2.0 45
MGEVL2020-2. 5 2.5 45
MGEVL2020-3 3.0 45
MGEVL2020-4 4.0 45
MGEVL2525-3 3.0 58
SMEEIHE I T

UEMRAZHAZIZER!
WIS IR RIEFAVREEF Y W



http://www.mzgtool.com

" C 0 Y EAKN
Mal F I X CNCy Turning Tool

;“L%#EH% SLHHRIR SEHIHRIR
KTGFR/L.
SRTGF 1212 35
1616 35
2020 35
2525 48
4040R 115
1616H 35 SPB. . BUUT TIHR 4ESP. . T1 & SPB226 63 KtTGFR/L‘ . 1010 63
2020K 35 SPB326| 63 HTGF. . 1212 63
2525M 45 SPB426| 63 1616 63
3232P 78 - SPB232| 75 2020 69
4040R 153 SPB332 75 _ 2525 81
SPB432| 75 W
1616H 35 SLTBN. . 2477 7) iR Bl & e 1616 119 KTGFSR/L. . 1010 38
2020K 35 2020 119 HTGF.. 1212 38
2525M 45 2525 119 1616 38
3232P 86 3232 156 2020 38
4040R 170 2525 49
1616H 49 MGEHR/L 1010 38 SGBR/L. . 1616 35
2020K 49 HMGMN. 1212 38 HEBA. . 2020 35
2525M 58 1616 34 2525 46
3232P 76 2020 34
4040R 189 2525 46
3232 86
S06K 29 MGEHR/L. . & 1010 50 SGBSR/L. 1616 48
S07K 24 FMCNN. . 7] Ay 1212 50 #GBA. . 2020 48
S08K 24 1616 46 2525 63
S10K 24 2020 50
S12M 26 2525 58
S14N 29
$16Q 30 B
$18Q 34 1616 45
S20R 34 L el 2020 | 45 oo ;8;8 g‘g
$258 51 2525 58
s32T | 76 2525 8
3232 115
S40U 134
SEIERATLET] S07 29 : 16 49 CEBSR/L.. 1616 63
S08 29 2 20 58 HEBA. . 2020 75
$10 29 25 69 2525 94
$12 36 : 32 135
S16 45 ‘ 40 285
$20 51 . WER
MGIVR/L. . BUZEMGNN. . 20 81
RS ENAILET] S06 76 CGWSR/L_ . Al 1616H 50 QE. . & 1616H 49
S07 76 HNGE. . T A 2020K 56 H2T. 2020K 58
S08 76 2525M 66
$10 86 3232P 105
$12 95
S14 105
S16 114
$18 181 GYHR/L. . %! 1616 54 DGTR/L. . Al 1616 80
$20 | 229 2020 54 bttt 2020 | 89
$25 341 2525 63 2525 | 108
EHGY2M. .1 HB
CRISBINBT B MFLET] C04G 100 KGMR/L. . &Y 54 FGHH. . R/L. . EI 1616 150
C05G 100 EGMM. . TT B 54 HFMN. . T1 & 150
C06J 100 49 170
CO7K 100 58
CO8K 119 68
C10K 138 105
C12M 175
C14N 275 TTER/L. . B 1010 54 188
c16Q 363 #T0C. TR 1212 54 2020 200
c180Q 425 1616 49 2525 225
C20R 500 2020 58
G258 1075 2525 68
C32T 2375 3232 105
i T ) 1 T1 48
S16Q 44 TTIR/L. . A 16 75 MGHH. . & 1616 125
S20R 45 HT0C. . T1H 20 88 HMGUN. . T1 R 2020 115
$258 58 25 100 w 2525 125
$32T 86
S40T/U | 151
S50V 379
BEN i E I T

UEMIRAZHA ZIZER!
RIS IR K IEFAVRENEF Y W

A—1



http://www.mzgtool.com

HIEETIFBMH MaiFix®

CNC Turning Tool Parts

SR RS By SLHIRIR WE By
MC0903 | 2.4 WA A HL1810 | 1.9
~ MC1204 | 2.9 HL1814 | 1.9
MC1604 | 5 6 HL1917 | 2.5
- MC1904 | & 1 L lHL2114 | 19
e a7 | 1
HL2217a% 5.6
G HL2414 1.9
MD1103 2.1 ME! L4 FI T sk g % ML520 1.0
MD1504 | 4.9 ML620 1.0
MD1506 | 5 6 ML625 1.0
ML630 1.1
ML830 3.8
MS0903 3.3 WE [ 47 WT16 1.9
MS1204 | 3.3 WWos 1.9

MS1504 | 5. 6

MS1904 | 8 1

NT1603 | 1.6

MT1604 | 5 6

MT2204 | 5 6

WAL i A7 4 WC0525E | 1.0
) WCO0625E | 1 9
MV1603 2.8 DRV i DC12
DD15

DT16

DV16

D08

ocoooo
WWWwWwww

MW0603 2.1 DEFE 7 A 18 22 DL525 3.8
MW0804 2.9 . DL625 3.8
STM16R 1.6 DDC12 2.5
STM16L 1.6 DDD15 2.5
STM22R 4.9 DDT16 2.5
STM22L 4.9 DDV16 2.5
DDW08 2.5
BRETIRTIR DEIpRE: 3§73

CTM510 1.0 LRIRRARTF L1.5 0.8
CTM513 1.0 L2.0 0.8
CTM613 1.0 L2.5 0.8
CTM617 1.0 L3.0 0.8
CTM619 1.0 L4.0 0.8
CTM515-T 1.0 L5.0 1.3

CTM618-W 1.0
CTM0822 1.5 T TL1.5 50
CTM0B225| 3. 8 BT 2.0 510
CTM1022 1.5 TL2.5 5.0
CTM1022:5| 3.8 TL3.0 50
TL4.0 5.0
TL5.0 5.0

Rl EHIR 2

. 0X5 0.6 IR BIERTF T6 0.8
. 2X5 0.6 T7 0.8
. 5X5 0.6 : T8 0.8
. 5X6 0.6 T10 0.8
. 5X8 0.6 T15 0.8
. 0X8 0.6 T20 0.8

. 5X10 0.6
.5X12 0.6 ; - T6 3.5
o 00 #OET ST T 16 3.5
. 0X10 0.6 18 3.5
. 5X12 0.6 T10 3.5
. 0X10 0.6 T15 3.5
. 0X12 0.6 120 3.5

cooaan
OCOOOCOOoO

TR IR F 176
117
118
1710
1115
1720
BT RS

ULMBASHAZEE!
WIS IR RIEFAVREEF Y W



http://www.mzgtool.com

MaiFix® BAP #HlkXEBE AT

Machine-Clamped Right-Angle Milling Cutter
S 3E AR H = 2R | w2y BEEEEYES BAPE & Bt TIH
— Locking Tooth Type Right-Angle End Milling Cutter Discarded Right-Angle End Milling Cutter Toolholder

oy
& : APKT113502 CBN1 0.2 | 28.5 D} 7 o b ¢
: APKT113504 CBN1 0.4 28.5 XM ‘ T !
FekREEAREM T CHARIEILE %3 85 g R = By
WRIxT)ZDxE KLxT)ET RMB
[ M BAP300R C10-10-120-1T 18
\ ‘ : APKT160402 CBN1 0.2 28.5 BAP30OR G10-11-120-1T 18
APKT160404 CBN1 0.4 28.5 s R 2 BAP300R G12-12-130-1T 18
APKT160408 CBN1 0.8 | 28.5 TVED T BT IR 3 3 BAP300R €12-13-130-1T 18
P BAP300R C14-14-130-2T 24
ook T H AHE M T BAP3-11-1T-M5 100 BAP30OR 014-14—150-2T 4
; BAP3-13-1T-M6 100 BAP30OR C15-15-150-2T 24
APKT113502 PCD1 0.2 28.5  BAP3-15-2T-M8 100 BAP30OR G15-15-200-2T 29
APKT113504 PCD1 0.4 28.5  BAP3-16-2T-M8 120 BAP30OR C15-16-150-2T 24
APKT113508 PCD1 0.8 28.5  BAP3-17-2T-M8 120 BAP300R C15-16-200-2T 29
S M T S A 130 BAP3OOR G15.6-16-150-2T | 24
- Sl 14 BAP30OR C15.6-16-200-2T | 29
% S BAP300R C16-16-120-2T 24
' APKT160402 PCD1 0.2 28.5  BAP3-25-4T-M12 150" BAP30OR C16-16-150-2T 24
APKT160404 PCD1 0.4 28.5  BAP3-26-2T-M12 140 BAP30OR C16-16-200-2T 29
APKT160408 PCD1 0.8 28.5  BAP3-26-3T-M12 140 BAP300R C16-16-250-2T 50
AEmMT AT 199" BAP30OR C16-17-120-2] 24
AR 140 BAP30OR C16-17-150-2T 24
AP A0 o T4 1%y BAP3OOR C16-17-200-2T 29
APKT1135PDER-AL ZKO1 | 0.8 6.1 BAP4-30-3T-MW16 170  BAP3OOR C16-17-250-2T 50
SRl |/ BAP30OR C16-18-150-2T 29
APKT1604PDER-G2 ZKO1 | 0.8 7.9 BAP4-32-3T-W16 170  BAP3O0OR C16-18-200-2T 33
BAP300R C19-20-150-2T 29
H4 AR BAP4-35-3T-M16 180 BAP30OR €19-20-200-2T 33
. BAP300R €20-20-120-2T 29
; 6 Eﬁpsﬂffjfﬁpﬂ; e BAP300R €20-20-150-2T 29
APKT1604-AL ZKO1 0.2 7.4 Prd Wit Currer Eﬁggggg g%g:%g:%gg:ﬂ gg
— BAP300R €20-21-120-2T 29
. BAP300R C20-21-150-2T 29
1t Hn L BAP300R C20-21-200-2T 33
S | BAP300R C20-21-250-2T 50
o EUA APMT1135-TG ZN60O 0.8 6.5 BAP300R C24-25-150-3T 54
- BAP300R €24-25-200-3T 63
APMT1604-TG ZN60O 0.8 8 BAP300R €24-25-250-3T 75
BAP300R C24-25-300-3T 108
BAP300R €25-25-150-3T 54
- BAP300R €25-25-200-3T 63
MRB S LRS  BAP30OR €25-25-250-3T 75
APMT1135PDER-M2 ZP25 | 0.8 5.0 TVEDXFLEdxT) KT {IE  BAP30OR (25-25-300-3T 108
BAP300R 40-22-4T 63 BAP300R (25-25-150-2T 39
APMT1604PDER-M2 ZP25 | 0.8 7.9 BAP30OR 50-22-4T 80 BAP300R €25-25-200-2T 46
BAP300R 63-22-6T 108 BAP300R €25-25-250-2T 63
BAP400R 40-22-3T 54 BAP300R (25-25-300-2T 100
BAP40OR 50-22-4T 54
APMT1135PDER-H2 ZP25 | 0.8 5.0 BAP400R 63-22-4T 63 BAP400R C24-25-150-2T 41
BAP400R 80-27-6T 108 BAP400R (24-25-200-2T 50
APMT1604PDER-H2 ZP25 | 0.8 7.9 BAP400R 100-32—-6T 170 BAP400R C24-25-250-2T 63
) BAP400R 125-40-7T 268 BAP400R €24-25-300-2T 100
BERAMR PEmT BAP400R 160-40-8T 321 BAP400R €25-25-150-2T 41
BAP400R 200-40-10T 625 BAP400R (25-25-200-2T 50
_ BAP400R 250-40-12T 983 BAP400R (25-25-250-2T 63
: ” = APMT1135PDER-XM ZP25 | 0.8 5.0 pADAOOR 300-60-14T & 3232885 3%532‘?"8‘% : 4?10
S APMT1604PDER-XM ZP25 | 0.8 7.9 gﬁmggg 2332- j:ﬂ gg B 022_26_2(5)0_2T 5
. BAP40OR 80-25. 4-6T 125 BAP400R €25-26-250-2T 63
BAHE BT BAP40OR 100-31. 75-6T 188 Eﬁgjggg g%g-gg—?gg-g i
APMT1135PDER ZM90 0.8 8.6 AL-BAPRHIZETIE  BAP4OOR C25-30-200-2T 63
AL-BAP Aluminum Right-Angle End Milling Cutter BAP400R 025_30_250_21. 89
APMT1604PDER ZM90 0.8 11.5 BAP400R G25-30-300-2T 108
BAP40OR €32-32-150-3T 71
B EERE I T FHRG 62° BAP40OR €32-32-200-3T 80
BAP40OR €32-32-250-3T 99
; - APMT1135PDER ZP20 0.8 6.5 BAP40OR €32-32-300-3T 125
- “ ~ BAP40OR C32-32-350-3T 143
S APMT1604PDER ZP20 0.8 9.3 BAP40OR €32-32-400-3T 188
e - BAPAOOR C32-35-150-3T 71
AR BmT D BAP400R C32-35-200-3T 80
T iy
TI1RDxFL EdxTIET RMB
APMT1135PDER ZP30 0.8 6.5 BAP400R C32-35-350-3T 143
AL-BAPAOOR 50-22-4T 89 BAP40OR C32-35-400-3T 188
APMT1604PDER ZP30 0.8 9.3 AL-BAP400R 63-22-4T 116 BAPAOOR 032-40-150-3T 80
BAME M AL-BAP400R 80-22-6T 161 BAP400R C32-40-200-3T 93
- AL-BAPAOOR 100-22-6T 286 BAP40OR C32-40-250-3T 116
@ APMT1135PDER ZP60 0.8 5.7 AL-BAP400R 125-27-7T 446 BAP400R C32-40-300-3T 134
.’ AL-BAP400R 160-27-8T 500 BAP40OR €32-40-350-3T 161
_— APMT1604PDER ZP60 0.8 7.1 AL-BAP400R 200-27-10T 1071 BAP400R C32-40-400-3T 205
AL-BAP400R 250-32-12T 1429 BAP400R C32-50-150-4T 116
BAME hmT AL-BAP400R 300-32-14T | 1786  BAPAOOR C32-50-200—4T 143

ULMBASHAZEE!
MIETIB IEFRARENEF N il

A—1



http://www.mzgtool.com

EMR#lEXEE2%5ET] MaiFix®

Machine-Clamped Round Nose Milling Cutter

— oy "l EMR%i F = 7] 3k B 25 T4
*%*E?ﬁ DKR $1)| Locking Tooth Type Round Nose End Milling Cutter Discarded Round Nose End Milling Cutter Toolholder
——
RDMW1204MOT—-PM ZP30 | R& 7.1 \\zﬁ
Ay
L]
o MRE S B
RDMW1605MOT-PM ZP30 | RS 10.0 ¢ . , M -, o
y EMR C10-4R10-120-1T 18
N EMR C12-4R12-130-1T 18
EMR C12-4R13-130-1T 18
EMR C16-4R16-150-2T 26
RPGT1003-AL ZKO1 R5 7.9 EMR C16-4R16-200-2T 33
ENR C16—4R17—;58—%T 26
7 4% Bl = 79I EMR C16-4R17-200-2T 33
@B PHML eree | e EIR C19-4R20-150-2T 3
P e [ mRgnmratr | X
= EMR C20-4R20-200-2T 36
RPMW1003M0 ZN60 R5 6.5 EMRR4-20-2T-M10 130 EMR C20-4R20-250-2T 63
RPMW1003 ZN6OA 2l | RS 5.5 EMRR4-21-2T-M10 130 EMR C20-4R21-150-2T 33
[r— RPMT1204MO ZN60O R6 8 EMRR4-25-2T—M12 140 EMR 028—4R%1—208—%T 36
SBHE —26-2T— EMR C19-5R20-150-2T 33
S B0 o 07 Eﬂggi_gg_g;_mg 128 EMR C19-5R20-200-2T 39
EMRRA-24-3T-M12 120 EMR G20-5R20-150-2T 33
& EMRR5-20-2T-M10 130 JEEE e b
- —20-2T- EMR C20-5R20-250-2T 63
RPMT08T2-JS ZP25 R4 4.7 Emsgg_%_g_mg 1 4318 ENR cgg—sk?—; 58_%T 9
-25-2T EMR C20-5R21-200-2T 39
RPMT10T3-JS ZP25 RS 5.7 EMRR5-26-2T—-M12 140 EMR C20-5R21-250-2T 63
) EMRR5-30-2T-M16 160 EMR C20-5R25-150-2T 41
AR ENRRS 32 2T Mo 190 HIR 620-eRas-29051 23
i RN Sy a1t 170 EMR C20-5R30-110-2T 41
! 3 R _ g2 hLog ol
RPMT1204M0 ZM90 6 8.6 EMRWR6—25-2T—M12 120 ~ EMR C24-SR25-200721 o
- Dmea N |k mgtesy | o
N . -30-2T EMR C25-5R25-150-2T 41
B B L ZHRG 62 EMRWR6-32-2T-M16 160 EMR C25-5R25-200-2T 50
EMRWR6-35-3T-M16 180 EMR C25-5R25-250-2T 71
EMR C25-5R25-300-2T 100
RPMT1204M0 ZP30 R6 | 7.1 Emg g%g:gg%g:;gg:g gg)
EMR C%S—SR%é—ZSg—%T 71
X - EMR4R %1 4 77 £ EMR C25-5R26-300-2T 100
BRHRE ML EMR Steel Round Nose End Milling Cutter EMR C25-5R30-150-2T 54
jp— EMR C25-5R30-200-2T 63
/ EMR C25-5R30-250-2T 71
: EMR C25-5R30-300-2T 100
' - RPMT1204M0 ZP60 R6 7.1 EMR C32-5R35-150-3T 71
A — EMR C32-5R35-200-3T 80
EMR C32-5R35-250-3T 99
EAMRE R T EMR C32-5R35-300-3T 125
EMR C32-5R35-350-3T 151
ENR 03%—5R35—408—3T 205
[ “ EMR C32-5R40-150-3T 80
) . RPMT1204-XM ZP25 R6 5.7 EMR C32-5R40-200-3T 99
V EMR C32-5R40-250-3T 108
EMR C32-5R40-300-3T 125
ERME EMT EMR C32-5R40-350-3T 161
EMR C32-5R40-400-3T 205
EMR 03%—5R50—558—4T 125
= EMR C32-5R50-200-4T 143
AEES SN EMRW C25-5R25-150-2T 41
RPMW1003MO ZM90 R5 7.1 TI1RDxFL ZdxTI HT RMB EMRW C25-5R25-200-2T 50
EMR 5R50-22-4T 54 EMRW 0%5—5R25—250—%T 80
AEE T o 62 ENR SRE3-22-41 °5 BN Cob-oRa02000T | oo
EMR 5R80-27-6T 108
ENR 5R100-32-6T 170 EMRW C25-5R30-250-2T 89
EMRW C32-5R35-150-3T 71
A EMR 5R125-40-7T 268 EMRW ©32-5R35-200-3T 80
RPMW1003M0O ZP20 R5 5.7 EMR 5R160-40-8T 321 EMRW C32-5R35-250-3T 99
| _— EMR 5R50-25. 4-4T 63 EMRW C32-5R35-300-3T 143
EMR 5R63-25. 4-4T 80 EMRW C25-6R32-150-2T 54
ERME FEMT EMR 5R80-25.4-6T 125  EMRW C25-6R32-200-2T 63
EMR 5R100-31. 75-6T 188 EMRW C25-6R32-250-2T 89
EMRW 6R50-22-4T 54 EMRW C25-6R32-300-2T 108
EMRI ¢R63-22-4T 53 ENRN Coo-eRo2000T | 40
RPMW1003MO ZP30 R5 5.7 EMRW 6R80-27-6T 108 EMRW C32-6R32-250-2T 99
EMRW 6R100-32-6T 170 EMRW C32-6R32-300-2T 125
X . EMRW 6R125-40-7T 268 EMRW C32-6R32-350-2T 143
ERAHE PEMT EMRW 6R160-40-8T 321 EMRW C32-6R32-400-2T 161
EMR 6R200-40-10T 625  EMRW C32-6R35-150-2T 80
EMR 6R250-40-12T 983 EMRW C32-6R35-200-2T 89
RPMW1003M0 ZP60 R5 | 5.7  EMR 6R300-60-14T 1250  EMRM gggigsggﬁggig I
EMRW 6R50-25. 4-4T 63
_oE A EMRW C32-6R32-350-2T 151
ELl a0, 421 80 ENRW C32-6R32-400-2T 170
X ., EMRW 6R80-25. 4-6T 125 EMRW 032-GRAO-150-3T 89
ERME PEMT -6R40-150~
EMRW 6R100-31. 75-6T 158 EMRW C32-6R40-200-3T 104
EMRW C32-6R40-250-3T 116
TR SRE T RO/ EMRN G39-0RA0-390-3T | 161
RPMIW1003-XM ZP25 R5 5.7 RD. EEN —6R40-350~
TheAboj]veﬁe}fﬁfﬂﬁﬁe‘ﬂ@ﬂm.»,.\ EMRW C32-6R40-400-3T 205
RC.. /RD.. Inserts and handle, please inquire! EMRW C32-6R50-150-4T 125
iR M B REm T EMRW C32-6R50-200-4T 143

ULMBAERAZIEE!
WIS IR RIEFAVREEF Y W

A—11



http://www.mzgtool.com

i F i x® N K = 5t T]

I X Machine-Clamped Milling Cutter

ikizkd AWES BN | ZWHRE MRES BN | ZWHRE MBS B2M] KURE MBBS B

B E {5 T e )
FkREEAREMT P3200-R4 ZP10 WA bR 4 570 Wi 5
| e ggggg:sg %mg b LNMUO303ZER-MJ 800-08A
: ’ SEHT1204AFFN CBN1| 28.5 P3200-R8 ZP10 M.5
) P3200-R10 ZP10 49.5
P3200-R12.5 ZP10 85 R % WS
= [ sEmmT ggggg:mg %E}g e PNMUO905GNEN-MJ 800-08T308M-C-G
YIHIHRC558 LA T~ il A
SEHT1204AFFN PCD1| 28.5 %EEg};’S %mgg ;g e e
ZPFG160 ZM55 86 PNMUO9O5XNER-GM 800-08T308M-1-G
W e R T ZPFG200 ZM55 100
ZPFG250 ZM55 136
ZPFG300 ZM55 216 R WK
SEHT1204AFFN ZKO1| 7.1 -
HIHIHRC55R L T 1@ SNMU130508EN-GM 800-09T308H-P-G
BNM120 ZM55 72
BNM160 ZM55 78
} p BNM200 ZM55 100 - ;
BR#E ST BNM250 ZM55 136 P MRS
BNM300 ZM55 172 WNMUOBO60BEN-SM R390-11T308-PM
SECA1204AFTN ZP30| 12.9 =
A N N F P
T2139% 7F 31X 773k 3PKT100408R—M s
Locking Tooth Type Spherical End Milling Cutter 3PKT150508R-M SCMTO9T308-MM
3PKT190608R—M
ERHE S mT 12.9
: MzG It
SEHT1204AFSN ZM90 XJMG1204 S-R215. 44-15T364M
ER R+
BRE ML 12.9 HNGX0906-FF G |0\502
SEKT1204AFTN ZM90 TIZDxIREEEM
T2139M-5R—M5 Rz P+
T2139M-6R—Mb 130 WNHX06031 2ZNN-Hl .
T2139M-8R-M8 140 WNMX09T316ZNN—-HM GR1P4004Y
o T2139M-10R-M10 150
KM$RHI45° S [ #E T) & T2139M-12. 5R-M12 160 B TS
KM Steel 45° Face Milling Cutter T2139M-15R-M16 170 6NGUOG0408R-M LNKX1506-G
o 6NGUO90508R-M
T2139Bk 2 32 8% T #F —
Discarded Spherical End Milling Toolholder R | R+
_ ~ CNHX100508T WXCU080612T
D {’F_}d CNHX131108T ,
| T | BERE
= 5 -. LNKX1005-Y
MBS B AXMTO60208R-EM LNKX1206-Y
R 12dxT]EDx 2 KLxTI ET RMB LNKT1507
12139 C10-4R-100-1T 46 M5 HP
%} gg g] g:js:] ggj ¥ 2 BLMPOGO3R-M - $229.0300. 32
PR Sl E= 72139 C10-5R-120-1T 46
’éﬂ%@d e 12139 C12-5R-150-1T 46 e e
12139 C16-5R-150-1T 56 )
72139 C12-6R-130-1T 46 BLMP0904R-ML SOEX090408-13
KM12-63-22-4T 80 T2139 C12-6R-150-1T 46
KM12-80-27-5T 134 12139 C16-6R-150-1T 56
KM12-100-32-5T 188 12139 C16-6R-200-1T 66 MR &
KM12-125-40-6T 268 %} gg g] 2—35—;88—] ¥ gg BLMP1205R-M HNPJ130720ANSN-HD
KM12-160-40-6T 321 —Oh—ZU0=
KM12-200-40-8T Jia  T2139 C20-8R-200-1T 88
KM12-250-40-10T 1071 12139 C25-8R-2501T 104 R W
T2139 C20-10R-150-1T 73
KM12 300-60-12T 1339 12139 C20-10R-200-1T 84 BLMP1306R-M SP1RH5-LT-L
KM12-50-25. 4-4T n 72139 €25-10R-250-1T 104
KM12-63-25. 4-4T 89 T2139 €32-10R-300-1T 116 e~
KM12-80-25. 4-5T 151 72139 C25-12. 5R-150-1T 88 R ki
KM12-100-31. 75-5T 205 T2139 C25-12. 5R-200-1T 103 TNGX2207PNTN SPIRH5-LT-D
KMIE5145° & 9 7] & 13139 C35-13. SR-200-1T 13
= ° EEE S —12. 5R-300- 13
KM Aluminum 45° Face Milling Cutter ¥%}gg gg%_1§R5$ggo$;1T 19466 [y - 3K 45
’ —15R=150~ g v
72139 €32-15R-200-1T 110 A3 QEMICOSSIN
— peaeaty | o
T —15R-300—1T 140 oK
12139 C32-15R-350-1T 160 Gl HE)
12139 C32-16R-150-1T 96 SNMX1205XTN SEKN1203AFTN-NN
12139 €32-16R-200-1T 110
T2139 C32-16R-250-1T 125
T2139 €32-16R-300-1T 140 B EE S |
J]T ? 39 €32-16R-350-1T 160 SOMT050204-DP SEKR1203AFTN-NN
(Insert):ZPFG.. SOMT060204-DP
016-8R-150 125 SOMT070306-DP
£16-8R-200 156 SOMTOBT306-DP A
G20-10R-150 166 SOMT09T308-DP
C20-10R-200 198 SOMT11T308-DP TPUN160308-NN
s €25-12. 5R-150 209
MEES £ 625-12. 5R-200 260
TIEDxFL Edx TI T e 8%2—1 gh5l1?5(2)50 %92} W5 Bk
~15R- 4 AXMT123508PEERG APKT150412-PM
AL-KM12-50-22-4T 89 ABPF (32-15R-200 271
AL-KM12-63-22-4T 116 ABPF (C32-15R-250 313
AL-KM12-80-22-5T 161 ABPF (32-15R-300 416 RREE n ok
AL-KM12-100-22-5T 286 7] Fi(Insert):BNM.. ~ g
At e e EW[ g} %_22_1 ES‘H gg RPHX1204M6EN-M31 SPMT120408-PM
AL-KM12-160-27-6T 500 TETlIRIe
AL-KM12-200-27-8T 1071 BNML C16-8R150711 I = W i 4 5 7]
AL-KM12-250-32-10T 1429 BNML G20-10R=150-1T 110 XNEX080608-MD15 ONHU060408-PM
AL-KM12 300-32-12T 1786 BNML G20-10R-200-1T 125 ONHUO8T508-PM
AL-KM12-50-25. 4-4T 100 BNML G25-10R-250—1T 156
ﬁt—ﬁm %—gg—g& 2—4; 121 BNML C25-12. 5R-150-1T 131 WisE ’ E4RHE T
—KM12-80-25. 4-5 170 BNML C25-12. 5R-200~1T 156 v ey
AL-KM12-100-31. 75-5T 286 BNML C25-12. 5R-250-1T 175 XONXTBOGOTR-M14 K073 5

ULMBASHAZEE!
MIETIB IEFRARENEF N il



http://www.mzgtool.com

1R 3R $h Sk

R390%1 ZF = 71 3k

Locking Tooth Type Right-Angle End Milling Cutter

HIgE S
T1 12D xT] Bx 4R 8% 3EM

R39011-16-2T-M8
R39011-17-2T-M8
R39011-20-2T-M10
R39011-21-2T-M10
R39011-25-2T-M12
R39011-26-2T-M12
R39011-30-2T-M16
R39011-32-2T-M16
R39011-33-2T-M16
R39011-35-2T-M16

Insert Type Quick Drill

BNM$i 7F R 7] 3k

Locking Tooth Type Spherical End Milling Cutter

LR IR

MBS

83
=

JDOMTE FF R 7] 3k

Locking Tooth Type Right-Angle End Milling Cutter

WCMX030208 ZP25 0.8 5.7
. WCMX040208 ZP25 0.8 5.7
2 WCMX050308 ZP25 0.8 7.1
‘ WCMX06T308 ZP25 0.8 7.9
é O BAME &ImT WCMX080412 ZP25 1.2 10.7
ety R39011T. S WCMX030208 ZP30 0.8 9.3
& i 4 1 B 2 & ) __ WCMX040208 ZP30 0.8 9.7
RMB TIEDxT] F B 4 2 FEM s WCMX050308 ZP30 0.8 | 10.0
0 IR = Pr— WCMX06T308 ZP30 0.8 | 10.7
-10-R5- u WCMX080412 ZP30 1.2 | 15.7

120 BNM-12-R6-Mb 150 B AL
130 BNM-16-R8-M8 160 SPMG050204 ZP25 0.4 5.7
130 BNM-20-R10-M10 160 SPMG060204 ZP25 0.4 5.7
140 BNM-25-R12.5-M12 170 SPMGO7T308 ZP25 0.8 74
140 SPMG090408 ZP25 0.8 7.9
150 BRYE S7mT SPMG110408 ZP25 0.8 9.3

150 -

150 SPMG050204 ZP30 0.4 | 1.4
180 SPMG060204 ZP30 0.4 | 11.9
SPMGO7T308 ZP30 0.8 | 12.1
- SPMG090408 ZP30 0.8 | 13.6
fﬁ\fgjﬁjﬁlgiibrauon tool rod SPMG110408 ZP30 0.8 15.0
EEE SAMT SPMG140408 ZP30 0.8 | 22.9

M

Insert:

MigES
T1 12D xT] Bx g 8UE $EM
JDMTO7-11-2T-M5
JDMTO7-12-2T-M5
JDMTO7-12-2T-M6
JDMTO07-13-2T-M6
JDMTO7-14-2T-M6
JDMTO7-16-3T-M8
JDMTO7-17-3T-M8

WCHL 3= 20 1R 52 $4 2%

WC Insert Type Quick Dri

L

JDMT0702

AXMTE!ZF =X T7 3k

Locking Tooth Type Right-Angle End Milling Cutter

o

MigH =

T)1ZDxT) HxIR BUHE HEM

RMB

SPHL Je 3 1R i 4 3k

B
RMB
150 8 12 XCMT040104 259 384 - >
150 10 12 XCMT050204 240 357 3 -
150 12 16 XCMT060204 198 274 2 -
150 14-14.5 20 WCMX030208 106 138 158 282
150 15-20 25 WCMX030208 106 138 158 282
180 MR = B ) 20.5-24.5| 25 WCMX040208 148 179 211 306
180 R 12dx K ZDx & KL R LU OM RMB 25 32 WCMX050308 148 179 211 306
_08-100— 25.5-30 32 WCMX050308 179 190 222 336
MFLO8-08-100-H4 e 30. 5-31 32 WCMX050308 242 250 306 422
—10-100- 31.5-40 32 WCMX06T308 242 250 306 422
oo A 32 | WOMX06T308 | 290 | 322 | 403 | 528
42 40 WCMX06T308 290 322 403 528
—~12-100- 43-45 40 WCMX080412 290 322 403 528
a1 oo e 25 46750 40 | WOMX080412 | 317 | 392 | 432 | 576
MFL12-12-200-M6 713 51-55 40 WCMX080412 357 461 547 624
M 56-57 40 WCMX080412 374 472 720 696
_15-150—] 58-59 40 WCMX06T308 374 472 720 696
m:;t} g_} g_;gg_mg 8?2 60-63 40 WCMX06T308 392 518 831 845
Ry by 6465 40 | WOMX06T308 | 421 | 576 | 941 | 970
R os  66-68 | 40 | WCMXO6T308 | 427 | 634 | 960 | 1008
Insert: AXMTOG0Z, MFL16—16—200-M8 938 69-70 40 WCMX06T308 432 672 1008 1104
(N
L MFL16-16-250-M8 1188 o

AXMTO6-11-2T-M5 150 MFL19-19-150-M10 1075 sp Insert Type Quick Dril
AXMTO6-12-2T-M5 150 MFL19-19-200-M10 1438
AXMTO6-12-2T-M6 150 MFL19-19-250-M10 1713 I E
AXMTO6-13-2T-M6 150 MFL20-20-100-M10 813 b
AXMTO6-16-3T-M8 180 MFL20-20-150-M10 1075
AXMTO6-17-3T-M8 180 MFL20-20-200-M10 1438
MFL20-20-250-M10 1713
AIXE F 7 7] 3k sl A O 1963 "43-14.5 | 20 | SPMG050204 | 128 | 150 | 188 | 330
Locking Tooth Type Right-Angle End Milling Cutter 1 5 25 SPM6050204 1 28 1 50 188 330
o o0 1938 15520 | 25 | SPMG060204 | 128 | 150 | 188 | 330
; e e ik _20.5-21.5| 25 SPMG060204 | 176 | 200 | 255 | 350
) M e Sl 227245 [ 25 SPMGO7T308 | 176 | 200 | 255 | 350
25-27.5 | 32 SPMGO7T308 | 211 | 230 | 275 | 384
MFL25-25-150-M12 1438
R e 1o7e 28730 32 SPMG090408 | 211 | 230 | 275 | 384
9 Rl B Shen 30.5-33.5| 32 SPMG090408 | 281 | 306 | 370 | 456
(R B Sa1y 3440 32 SPMG110408 | 281 | 306 | 370 | 456
- v BRLE B Sons A1 32 SPMG110408 | 332 | 370 | 443 | 576
o D*’”éfg%;;?‘@w %Mgl 4245 40 SPMGT40512 | 332 | 370 | 443 | 576
7] 2Dx7] 28 5L 46-50 40 SPMG140512 370 415 528 | 624
AJX06-16-2T-M8 130 N 372 5155 40 | SPMGOTT308 | 396 | 466 | 605 | 720
AJX06-17-2T-M8 130 [EESE RS Jaly 56 40 SPMGO7T308 | 415 | 520 | 874 | 960
AJX08-20-2T-M10 140 [iSly SR =y sy 57799 40 SPMG090408 | 415 | 520 | 874 | 960
AJX08-21-2T-M10 140 | WEi35 35 Anouia Jeoo 60763 40 SPMG090408 | 434 | 575 | 1050 | 1140
AJIX09-25-2T-M12 150 64-66 40 SPMG090408 | 466 | 680 | 1176 1260
AJX09-26-2T-M12 150 67-68 40 SPMG110408 | 466 | 680 | 1176 1260
AJX09-28-2T-M12 150 *FRTJEEFENKT L, 69-70 40 SPMG110408 431 730 1218 | 1380
AJX12-30-2T-M16 170 %5 ,‘;Ij > ks 1@] 1;\ 1
AJX12-32-2T-M16 170+ Louk teen tome tool stock specificetions are BATEWDXT./GPMT.. T K M EF REH L&, XWidigH !
AJX12-35-2T-M16 200 Flease inauire for specifications not 11sted. piys WDXT. /GPMT... Type Stock Quick Drill Commodity, Welcome To Inquire!

WIS RIE AR EVEF N 51

UEMRAZHAZIZER!

o

A—11



http://www.mzgtool.com

MaiF ix s Too

Boring Tool

5z IEES O S ™) NBH2084% 7] — HBORf 42 7] -
SHE RIS B0 STE D R4 Rl zsomm)ﬁk SRR g

W 7] 18 §2 Sk Egmgg tgg ;Z:gg 138 NBH2084 Boring Tool 0.002mm v a
Indexable Two-Edge (Boring range:8-280mm) HBOR Fine-Tuning Borin
Rough Boring cutter | RBH32C  |LBK3| 32-42 130 “\7\ Cutter(Fine Tunmg g/?_
. | RBH4OC |LBK4| 40-55 | 170 / w Accuracy 0.002mm) fff \
e s RBH52C LBKS 52_70 260 gﬁfrﬂe*'?li?n:;?cmracy 0.01mm
; RBH68C |LBK6| 68-92 | 350
RBH90C |LBK6| 90-122 | 430 HigR = SEE D BEfH MRS SEE D %1}1
RBH120C |LBK6| 120164 | 500 ., _
RBH160C | BST | 160-204 | 570  #£FLJ]#F Boring Tool Holder HBOR25 Boring Cutter
RBH200C | BST | 200-310 | 1150 SBJ2008-32 8-11 36 HBOR25M(29-38) 3k 29-38 | 2800
RBH300C | BST | 300-410 | 2285  SBJ2010-40 10-13 36 HBOR25M(29-38) 5% 29-38 | 2800
71K Insert:CCMT.. | RBH400C | BST | 400-510 | 2450 SBJ2012-53 12-17 36 BT30-HBOR25PZx {7 3600
RBH500C | BST | 500-610 | 2860 gBJ%g}g—?gz 16-21 36 BT40—HBOR25P§@ 3600
— — BJ2016- 16-21 86 SK30-HBOR25P 3600
moBRg gk | (P20 oK) 20726 | 970 5BJ2020-83 20130 | 36 SKAO-HBOR25PZS{A 3600
breacon b Guver] CBH32  |LBK3| 32-42 | 685  spauoe-ieg 20130 | 86 HSKOSA-HBORZOPZ A 4100
CBHAO  |LBK4| 40-55 | 760  9o2020-150 20-130 | 100 CA0602-09TE54REZ ] ey 0
o e e O $BJ2020-200 20-130 | 120  CAO603-16TB5M5E T 3-4.2 | 250
o ol ey | oy SBJ2025-96 25-135 | 36  CAO604-22T$B5R$E 7] 4-5.2 | 250
CBH100 |LBK6| 100-152 | 1150  aoua02o-144 25-135 | 86 CAOS0S-27THLREET) FET 250
CBH150 |LBK6| 150202 | 1360  soaoze 10 25-135 | 100  CAO606-32T¢L4RiE ] Eadio 250
oenzo0 | BsT NE R 3000 SBJ2025-200 25-135 | 120  CB06050-21 (§84F2£CC03) 5-6 520
cH300 | BsT | 300410 | 3450 SBJ2030-115 30-140 36 CB06055-26 (§54F2£CC03) | 5.5-6.5 | 520
CBH400 | BST | 200-510 | 3860  soya0s0 173 30-140 | 100  CBOG060-26 ($54F2CC03) | 677 | 520
oBH500 | BST | 500-610 | 4300  SBY2030-200 30-140 | 120  CB06065-31 ($5#F2£CC03) | 6.5-7.5 | 520
ggﬁg%g—l{sm 120-280 | 36 CB06070-31 ($54F2£CC04) 7-8 520
Ewmgg g?; %g_i(; ggg [ltns 190 HBOR32 Boring Cutter
EiND | oks | 3o-eo | zoo EX#J] setBoring Tool HBOR32M (36-52) §&3k 36-52 | 3360
Einat | ok IR (o NBH2084%% Sk 8-280 | 530  HBOR32M(36-52) jx % 36-52 | 3360
smwEo. oimm | Euns3 | oK5 | 53-95 | 750 R8-NBH2084-8P 8-280 | 980
hocoracyo01mm | EWNG68 | CK6 | 68-150 | 830 ~ NTS0-NBI2084-8P 8-280 | 980  HBOR4O Boring Cutter
EN100 | oké | 100=203 | 900 NT40-NBH2084-8P 8-280 | 980  HBOR4OM (44-68) §&sk 44-68 | 3500
" g;ig—mg:gggi—gg 8-280 | 1300  HBOR4OM (44-68) Jz & 44-68 | 3500
FELESL TS | EWNT-1 20-25 | 55 - - 8-280 :
B*Oﬁrlfgg'rfc_l(j:\jam;%p CBH1-2 25-31 55 BT50-NBH2084-8P 8-280 1918500 HBORS50 setBoring Tool
CBH1-3 30-36 | 55 SK40-NBH2084-8P 8-280 | 1170  HBORSOBM(57-90) $&k 57-90 | 3120
G B e el |0 bRt | T L
CBH2-2 32-40 | 55 - - - =
CBH2-3 39-47 | 55 NBJ16%%7] ~ BT30-HBOR50 (06-90)~14P | 6-90 | 5000
CBH3-1 32-42 | 55  (#EFLIEES- 50mm BT40-HBOR50 (06-90) A4 | 6-90 3600
CBH3-2 41-51 55 NBJ16 Boring Tool BT40-HBOR50 (06-90) -14P 6-90 5000
CBH3-3 50-60 55 (Boring range:8-50mm) / % BT50-HBOR50 (06-90) A48 | 6-90 3800
CBH4-1 41-54 | 55 \ \\ BT50-HBOR50 (06-90)—14P | 6-90 | 5350
DOl I e wemne e | oL
> 61-74 | 55  PUAREO O1mm _ o< 8
0BH5—1 53-70 | 55 (e yau SK50-HBOR50 (06-90) A% | 6-90 | 3800
CBH5-2 65-82 | 55 MBES 5o SR SK50-HBORS0 (06-90) —14P | 6-90 5350
CBH5-3 78-95 | 55 87| JTHF Boring Tool Holder HSK63A-HBOR50 (6-90)-14P|  6-90 | 5500
eBre- 16080;110503 gg SBJ1606-24 6-9 36 HBORG3 SetBoring Tool
CBH6-2 94-126 | 55 ggj} 2‘1)3:‘3“2) 8-11 36 HBORG63BM (70~110) §&k 70-110 | 3380
126-179 | 55 SR1612- 10-13 36 HBOR63BM(110-150) $¥k | 110-150 | 3380
CBH6-3 118-150 | 55 53 12-15 36 HBOR63BM (70-110) & 70-110 | 3380
71K Insert:TP.. 150-203 | 55 SBJ1614-60 14-17 36 HBOR63BM (110-150) Jg§% | 110-150 | 3380
ggj} g;gzgg 16-21 36 NT40-HBOR63ZN {4 6-150 | 4500
| [ BIGER,|2B) & eemegiw | om )
BE10. 5A M5 7 = - a
BE{SFLJISK | BE12A W6 78 ggj} 230*20% 20-26 | 120  NT50-HBOR63 (6-150)-15P | 6-150 | 6000
BE Boring Tool | BE14A W6 70 o 62*53_‘{2_) of 25-31 36 BT40-HBOR63Z{A 6-150 | 4500
BE16A W6 70 Sbaiezs 130 25-31 100 BT40-HBOR63 (6-150)15P | 6-150 | 5800
BE18A M10 70 SBJ1630-90 25-31 120 BT50-HBOR63 7 {4~ 6-150 4700
BE20A M10 70 SBJ1630-150L 30-36 36 BT50-HBOR63 (6-150) 15P 6-150 | 6000
BE22A W10 70 3. 1630-150L 30-36 | 100  SK40-HBOR63(6-150)15P | 6-150 | 5800
BE24A W10 70 SB1635-90 30-36 | 120  SK50-HBOR63(6-150)15P | 6-150 | 6000
BE26A M0 70 SN gg—j} 130% HSK63A-HBOR63 (6-150) 15P| 6-150 | 6100
BE = "
nggﬁ m}g ;8 ggjlgig:380L 35-41 120 %EJJEEFF Boring Accessories
BE32A W10 80 B0 40-46 36 BR1606-21 (WBGT0601. . L) 6-9 100
BE34A W10 80 Spuaent-1saL 40-46 | 100  BR1608-28 (TBGT0601..L) | 8-11 100
BE36A M10 100 SB1645-90 40-46 | 120  BR1610-35(TBGT0601..L) | 10-13 | 100
BE38A M10 100 SBU1645-150L 45-51 36 BR1612-42 (TP..09..L) 12-15 100
BEAOA W10 100 o 45-51 100 BR1614-50(TP.. 09..L) 14-17 | 100
645-200L 45-51 | 120 BR1616-60(TP..09..L) 16-20 | 100
o5 7% _ — BR1620-65 (TP. . 11. . L) 20-24 | 100
o CECE&S% Eg]‘g?g _ 28 EH#4$T] SetBoring Tool BR1624-68 (TP. . 11.. L) 24-28 | 100
| EC1612 - 60 NBJ164% 3L BMS 150
ﬁ EC1614 = 60 NT40-SBJ16-5 8-50 | 580 SRTP2938(TP..09..L) 28-38 | 150
—55-12P 8-50 | 980  SRTP3652(TP..09..L) 36-52 | 150
NT50-SBJ16-65-12P 8-50 | 980  SRTP4468(TP..09..L) 44-68 | 175
$59) 7] #F A 45| STO8-W5-100L M5 250 BT30-SBJ16-55-12P 8-50 980  BMS ey 40
TS e o | ke | 3 B40-SBute-55-12p 8-50 | 1300 SRTP70110¢ 70-110 | 200
STiZ-yo20n | Me 1 970 BT50-SBJ16-65-12P 8-50 | 980 SRTP110150T(P. Ry Moo | 200
ST12-W6-150L M6 450 SK30-SBJ16-60-12P 8-50 /i TP 11..1)
ST14-W6-160L | M6 500 50
e— STI6W10-160] W10 | 570  okeo-Say1g—gat 20 e, 1170
ST16-W10-180L| M10 | 630 850 | 1300

ULMBASHAZEE!
RIS IR K IEFAVRENEF Y W

A—1



http://www.mzgtool.com

ZfLTIR

MaiF1x®

CKTI#&
CK Toolholder

Boring Tool

LBKJI#®

/ LBK Toolholder

BST/NBHJ] ##

BST/NBH
Toolholder

BSA#H4E7]
BSA Rough
Boring Cutter

HHE Tk

Rough Boring Cutter Holder

Ia

TBS910-36-L TP09 BT30-NBH2084 150 vy
MRS |8 W 28 150Nl 3084 2 IEEEEEE Y
BT40-BSA25-120 | 200 TBSG13-6S-L 17nif) 50 NromReRied 129 BT30-LBK1-55 88 BT30-CK1-55 150
BT40-BSA30-150 200 18S916-80-L | 1P11] 20 NT50-NBH2084 300 BT30-LBK1-70 88 BT30-CK1-70 150
BT40-BSA38-165 | 210 18301970 |Tois| 80 Skd0-NBH2084 150  BT30-LBK2-80 88 BT30-CK2-80 150
BT40-BSA42-165 | 210 TBS919-90-L |Tc14| 20  SKSO-NBH2084 300 BT30-LBK3-80 88 BT30-CK3-80 150
BT40-BSA50-165 | 225 TBS919-85-L | TC16| 80 BBT40-NBH2084 650 BT30-LBK4-70 88  BT30-CK4-70 150
BT40-BSA62-180 | 265  TBS919-105-L |TC16| 100  DoroO-NEH2084 792 BT30-LBK5-70 88 BT30-CK5-70 150
BT40-BSA72-180 | 300 TBS925-100-L |TC16| 130 dATS0-NBH2084 300 BT30-LBK6-60 88 BT30-CK6-60 150
BT40-BSA90-180 375 TBS925-135-L | TC16| 160 HSK63A-NBH2084 650
BT50-BSA25-135 | 340 — HSK100A-NBH2084 900  BT40-LBK1-75 88 BT40-CK1-75 150
BT50-BSA30-165 | 340 wig) Tse.R] 15040-NBH2084 195 BT40-LBK1-105 | 88  BT40-CK1-105 150
BT50-BSA38-180 | 350 . (5000 NBli2984 579 BTA0-LBK1-130 | 119  BT40-CK1-130 188
BT50-BSA42-210 | 350 AMRES 5 BN 90 BT40-LBK1-165 150  BT40-CK2-75 150
BT50-BSA50-180 365 TBS910-36-R TPO9 MT4-NBH2084 180 BT40-LBK1-195 250 BT40-CK2-115 150
BT50-BSA50-240 | 390 TBS910-45-R | TPO9 MT5-NBH2084 220 BT40-LBK2-85 88 BT40-CK2-130 188
BT50-BSA62-195 | 400 TBS913-48-R | TP11 MT6-NBH2084 280 BT40-LBK2-115 88 BT40-CK3-80 150
BT50-BSA62-270 | 450 TBS913-65-R [ TP11 MTB3-NBH2084 180 BT40-LBK2-130 119 BT40-CK3-100 150
BT50-BSA72-195 | 400  TBS916-60-R |TP11 ALr v iy 159 BT4O-LBK2-165 | 150  BT40-CK3-135 | 188
BT50-BSA72-285 | 550 TBS916-80-R | TP11 MTBG-NBH2084 280  BT40-LBK2-200 250 BT40-CK3-155 188
BT50-BSA90-210 | 690 }ggg] g:;g‘g e R8-NBH2084 150  BT40-LBK3-95 88 BT40-CK4-75 150
BT50-BSA90-300 | 875 TBsoeteeer  |Tols BT40-NBH2084-100L | 250  BT40-LBK3-125 119 BT40-CK4-100 150
BT50-BSA105-195| 1250 1p3019_105-R | 1014 BT40-NBH2084-150L | 380  BT40-LBK3-165 150  BT40-CK4-150 188
BT50-BSA105-285| 1600 1B3925-100-R |1016| 130  oreo non2084-200L | 59  BT40-LBK3-210 250  BT40-CK4-170 225
BSA-LB K*ﬁ %.3; 7] TBS925-135-R | TC16| 160 BT50-NBH2084-150L 380 BT40-LBK4-85 88 BT40-CK5-60 150
= BT50-NBH2084-200L 500 BT40-LBK4-115 88 BT40-CK5-100 150
Boqough g \ . BT50-NBH2084-250L | 625  BT40-LBK4-130 119 BT40-CK5-150 188
onng LUl g T ——— BT40-BST—70 280 BT40-LBK4-150 119 BT40-CK6-65 150
- kRSO E  BT40-BST-100 280 BT40-LBK4-175 150 BT40-CK6-100 150
BT40-BST-150 325 BT40-LBK4-220 250  BT40-CK6-150 188
833383:%8:'[ BTA0-BST—200 360 BT40-LBK5-75 88
PITETEY Y C8S910-36-L BT BaI %0 289 BT40-LBK5-125 | 119  BT50-CK1-115 315
CBS910-45-L BT50-BST-200 350 BT40-LBK5-175 150 BT50-CK1-145 345
BSA30-42-LBK2 115 CBS913-48-L BT50-BST-250 450  BT40-LBK5-235 250 BT50-CK1-200 400
BSA38-52-LBK3 120 CBS913-65-L BT50-BST-300 500  BT40-LBK6-65 88 BT50-CK2-105 315
BSA50-65-LBK4 140 CBS916-60-L BT50-BST-350 565 BT40-LBK6-115 88  BT50-CK2-135 345
BSA62-90-LBK5 | 175  SBS916780-L BIo0 BT AN 825 BT40-LBKE-150 | 119  BT50-CK2-165 330
BSA72-110-LBK6 | 215 ORS00t BT50-BST-500 {000 BT40-LBK6-165 150  BT50-CK2-235 400
T CBS919-85-L SK40-BST-100 390 BT40-LBK6-240 250 BT50-CK3-110 315
BSB#H % 7] CBS919-105-L SK40-BST-150 520 BT50-CK3-140 345
BSB Rough CBS925-100-L SK50-BST-100 390 BT50-LBK1-115 225  BT50-CK3-175 330
Boring Cutter 0BS925-135-L gﬁgg;gg}:;gg ggg BT50-LBK1-145 250 BT50-CK3-290 591
9 SKRO_BST—_250 %0  BT50-LBK1-200 338 BT50-CK3-300 591
———— BT50-LBK2-110 225  BT50-CK3-350 795
LBKIEKHF i | BT50-LBK2-140 250  BT50-CK4-100 315
D et Y BTS0-Lokz 238 | ‘40 BIS0-KA 203 | 42
AiEE S ) 832383—%8—2 HIgE S BT50-LBK3-125 225 BT50-CK4-270 591
_ _ CBS910-36-R vy BT50-LBK3-140 250 BT50-CK4-300 591
3};‘8_g§§§§_} §8 388 CBS910-45-R Lok, 130 BT50-LBK3-155 250 BT50-CK4-350 795
BT40-BSBS0-165 | 225 CBS913-48-R LBKs-3-30 BT50-LBK3-185 275  BT50-CK5-90 315
—4- BT50-LBK3-215 315 BT50-CK5-165 330
358-325?%-122 588 BT50-LBK3-255 385  BT50-CK5-210 424
BT40-BSB90-180 | 375 BT50-LBK3-290 455  BT50-CK5-270 591
BT50-BSB25-135 | 338 BT50-LBK3-300 455 BT50-CK5-300 591
BT50-BSB38-180 | 344 LBKo-¢-199 BT50-LBK3-350 | 625  BT50-CK5-350 795
BT50-BSB50-180 | 363 - BT50-LBK4~115 225  BT50-CK6-95 315
BT30-BSB30-240 | 388 LBKZ 12 BT50-LBK4-145 250 BT50-CK6-155 330
BT50-BSB62-195 | 400 IR § BIS0-LBK4-160 | 275  BT50-CK6-215 424
BT50-BSB62-270 450 gll?,K Conversion BT50-LBK4-205 315 BT50-CK6-250 591
eeve BT50-LBK4-255 385  BT50-CK6-300 591
BISO-BSG7Z 175 | 438 H 4% A 2 W79 BT50-LBK4-305 455  BT50-CK6-350 795
BT50-BSB72-285 | 588 T & 3'1 1" = A8 BT50-LBKA-350 | 625
Bl0-85890-210 | 688 - LBK2-1-36 130 BT50-LBK5-105 | 225 CKIE&#
BT50-BSB90-300 | 875  1BS410-45 LBK3~1-41 130 KIE < #F
BT50-BSB105-195| 1251 TBS410-50 LBK3-2-37 130 BT50-LBK5-180 275 CK Extension Rod )
s stos ges| (0 T et s A
BSB-LBK#H ¥ 7] TBS419-90 LBK4-3-50 150 BT50-LBK5-350 625 _.
BSB-LBK Rough TBS4E 115 bos 180 170 BT50-LBK6-95 225 —_
Boring Cutter TBS425-130 LBK5-2-74 170 g;gg—tgﬁg—l gg %75 ;m 1‘% gg _:lg % ﬁl\
LBK5-3-47 170 | N 75
LBKs-3-72 170 BTS0-LBK6-230 315 CK1-1-30 125
Mg A= i BT50-LBK6-290 455 CK2-2-30 125
T _ 7 LN 179 BT50-LBK6-350 625 CK3-3-30 125
MigE S CBS408-35 LBK6-2-63 195 CK4-4-45 120
CBS410-45 LBK6-2-93 235  HSK63A-LBK1-105| 625  CK4-4-60 150
BSB25-52-LBK?2 115 CBS410-50 LBK6-3-56 195 HSK63A-LBK2-115| 625 CK5-5-60 163
BSB38-70-LBK3 120 CBS413-60 LBK6-3-96 235 HSK63A-LBK3-125| 625 CK5-5-90 188
BSB50-90-LBK4 | 138  CBS416-75 LoKe 4% 372 HSK63A-LBKA-115| 625  CK6-6-60 163
BSB62-90-LBK5 175 CBS419-115 CBKé—5-41 702 HSK63A-LBK5-125| 625  CK6-6-100 188
BSB72-135-LBK6 250 CBS425-130 LBK6-5-91 235  HSK63A-LBK6-115| 625  CK6-6-120 250

UEMRAZHAZIZER!
WIS IR RIEFAVREEF Y W

A—11



http://www.mzgtool.com

CNC##% J] 1R

MaiF1x®

ERS# M Rk L TR

ER Collet Toolholder

CNC Tool Holder

FMBZ il 3 & #t #ll 7] 1%

FMB Metric Face ool Holder

ER3 14 2 5k

ERExtension Collet

MixE S L)

Milling

HHEBNO. xK KCo | | etxURMEA/MxL  RMB

w MBS B4
_ HENO. xE Rdx B KL RMB
= z
NO. R8-ER40 83 BT30-FMB22-45 61
MTB3-ER20 67 BT30-FMB22-60 61
MTB3-ER25 67 BT30-FMB22-100 78
WTB3-ER32 G RS R BE B BT30-FNB27-45 61
MTB4—ER25 72 BT30-FMB27-60 61
Collet MTB4—ER32 78 Collet 0.01mm 0.008mm 0. 005mm EEEEESeEIEV o rre 78
% Al 2 EX79  MTB4-ER40 94 ER8 13 - - BT30-FMB32-45 67
HAENO. x5 KCo | | etxIRHBA/MxL  RMB MTBS-ER40 111 ER11 7 13 22 BT30-FMB32-60 67
BT30-ER11-70 i NT30-ER25 72 ER16 7 13 27 BT40-FMB22-45 72
BT30-ER11-100 85 NT0-ERdD g5 ERO 7 13| 2 Nesa-100 7
BT30-ER16-70 78 NT40-ER25 72 ERZ; 181 ] 3 %é BT40-FNB22-150 94
BT30-ER16-100 78 NT40-ER32 72 S 17 2% BT40-FNB22-200 156
BT30-ER16-150 83 NT40-ER40 83 ER%0 50 B 5 BT40:FM822:250 200
BT30-ER20-70 78 1S020-ER16-35MS 170 BT40_FM322_300 256
- - 15025-ER20-35MS 170 BT40-FMB22-350 311
Uity 2 1S030-ER32-42 115 BT40-FMB27-45 72
BT30-ER20-150 83 1S030-ER32—60 115 ERFEME IR Erpxiension Collet BT40-FMB27-60 72
BT30-ER25-70 78 HSK32E—ER16-050MS 345 BT40-FMB27-100 78
BT30-ER25-100 78 HSK32E-ER20-050MS 345 ( ‘V { ‘ ' BT40-FMB27-150 100
BT30-ER25-150 83 HSK32E~ER20-060MS 345 a0, L,
B0 Enaa 10 U ER16-7 o= A M Mo A M BT40-FNB32-150 100
BT30-ER32-100 78 BT30-GER16-70 90 BT40FNBS2-15 o
BT30-ER32-150 83 BISO-GERIC-100 2 Hig RS T T 5140-FMB20-100 89
Aol Tel 2 BT30-GER20-100 90 Col let [T BT40-FNB40-150 111
BT30-ER40-100 72 BT50-FMB22-60 167
FLjeE aiN 90 | EReAN i 17 BT50-FMB22-100 167
BT40-ER11-70 89 A Sy 2 ERT1A/M 6 7 BT50-FHB22-150 211
BT40-ER11-100 89 BT40-GER16-100 2 ER16A/M 7 7 BT50-FMB22-200 256
oooEeEwE o gt mmens
Bl g ROl 00 & Bl IguERZ D00 100 BT50-FMB22-350 500
BT40-ER16-150 94 BT40-GER25-70 100 ER32UM 13 13 P ot
BT40-ER16-200 156 BT40-GER25-100 100 ER40UM 17 17 L o
BT40-ER20-70 89 BT40-GER32-70 100 ER50UM 64 BT50-FMB22-500 778
BT40-ER20-100 89 BT40-GER32-100 _ 100 BT50-FMB22-550 889
BT40-ER20-150 94  ERMM 9% KR BT50-FMB22-600 1000
BT40-ER20-200 156 ER ColletExtension Toolholder FMA%— %lj :F E%’ﬁ ﬁ‘] 7] m BT50-FMB27-60 167
BT40-ER25-70 89 FMB Inch Face Milling Tool Holder g%g:mggjgg ;g;
BT40-ER25-100 89 it A HINO BT50-FMB27-200 267
BT40-ER25-150 7 / R BT50-FMB27-250 356
BT40-ER25-200 156 4BHE ! BT50-FB27-300 433
BT40-ER32-70 89 BT50~-FMB27-350 500
BT40—-ER32-100 89 MRS BT50-FMB27-400 611
BT40-ER32-150 94 ARARD xR SkCo | | e txdRIEA/MxL BT50-FMB32-60 178
BT40-ER32-200 156 C10-ER8-100 BT50-FMB32-100 189
owoua 0 geme B
BT40-ER32-300 311 ~ERG— - ~
BT40-ER40-80 83 C12-ER8-150 BT50-FIB32-250 367
e e C12-ER11-100 BT50-FMB32-300 500
C12-ER11-150 BT50-FMB40-60 178
BT40-ER40-150 100 C16-ER11-100 - BT50-FMB40-100 189
BT40-ER40-200 167 C16-ER11-150 MigES LR BT50-FMB40-150 244
C16-ER16-100 NG, xE f2dxH KL RMB BT50-FMB40-200 289
BT50-ER16-100 167 C16-ER16-150 28 R8-FMA25. 4 72 BT50-FMB40-250 378
BT50~ER16-150 211 C16-ER16-200 50 R8—FMA31. 75 72 BT50-FMB40-300 500
BT50-ER16-200 267 C16-ER16-250 67 C20-FMB25. 4 72 BT50-FMB60-75 356
- _ C16-ER20-100 28 . BT50-FMB60-150 611
BT50-ER20-100 167 C16-ER20-150 % NT50-FMA31. 75-75 183
BT50-ER20-150 211 C16-ER20-200 50 NT50-FMA38. 1-75 183 R8-FMB22 67
BT50-ER20-200 256 $20-ER20-100 28 NT50-FMA47. 625-75 389 R8-FMB27 67
BT50-ER20-250 344
C20-ER20-150 28 NT50-FMA50. 8-75 233 R8-FMB32 72
BT50-ER20-300 422 (20-ER20-200 50 BT40-FMA25.4-60 72 R8-~FNB40 83
BT50-ER25-100 167 C20-ER16-100 28 BT40-FMA3T. 75-60 78 ke o
BT50-ER25-150 211 C20-ER16-150 28 BT40-FMA31. 75-100 83 C25-FMB22 7
BT50-ER25-250 356 | C20°ER167250 67 BT40-FMA38.1-100 89 025-FNB32 72
BT50-ER25-300 422 IEEEE %0 BT50-FNA25. 4-60 178 C32-FB22 78
BT50-ER32-70 167 S20ERI 1150 BT50~FMA25. 4-100 178 C32-FMB27 78
BT50-ER32-100 167 T a : C32-FB32 78
C20-ER25-150 44 BT50-FMA25. 4-150 222 MT3-FMB22 72
BTS0-ER32-150 211 C25-ER16-100 28 BT50-FMA25. 4-200 267 WI3TEMESZ I8
BT50-ER32-200 256 (25-ER16-150 28 BT50-FMA25. 4-250 356 MT3-FMB32 7
BT50-ER32-250 344 C25-ER16-200 50 BT50-FMA25. 4-300 467 MT4-FMB22 83
BT50-ER32-300 411 C25-ER16-250 72 BT50-FMA31. 75-60 183 MT4-FMB27 83
BT50-ER32-350 533  EebausERa0TI00 28 BT50-FMA31.75-100 183 MT4-FMB32 83
BT50-ER32-400 667 C25-ER20-150 28 BT50-FMA31. 75-150 239 NT30-FMB22 78
BT50-ER40-100 178 C%SZEF%O:ZOO 50 BT50-FMA31. 75-200 283 NT30-FMB27 78
BT50-ER40-150 222 | GZ53ERZ57100 a4 BT50-FNMA31. 75-250 357 NT30-FMB32 78
BT50-ER40-200 267 G257ER257150 50 - g NT40-FNB22 78
C25-ER25-200 72 BT50-FMA31. 75-300 500 NT40—-FMB27 78
BT50-ER40-250 367 (25-ER25-250 83 BT50-FMA38. 1-60 178 NT40-FNB3S o
BT50-ER40-300 444 C25-ER32-100 61 BT50-FMA38. 1-100 189 NT40-FNB40 89
BT50-ER40-350 544 C25-ER32-150 72 BT50-FMA38. 1-150 250 NT50-FMB22 178
BT50-ER40-400 667 032-ER32-100 61 BT50-FMA47. 625-75 356 NT50-FMB27 178
BT50‘ER50_1 00 31 1 C32‘ER32—1 50 72 BT50_FMA47 625_1 50 61 1 NT50-FMB32 178
BT50-ER50-150 344 C32-ER32-200 78 BT50-FMA47. 625-200 833 NT50-FMB40-75 183
BT50-ER50-200 389 €32-ER32-250 94 BT50—-FMA50. 8-75 233 NT50-FMB32-150 222
BT50-ER50-250 511 ga0-ERd0-100 & BT50-FMA50. 8-100 289 [ISlgiMio g 00 27
BT50-ER50-300 667 C40-ER32-100 72 : NT50-FMB60-75 389
C32-ER40-100 78 BT50-FMA50. 8-150 333

ULMBASHAZEE!

?%EEEBE}E?MI]?%W%M Fiflo

A—H



http://www.mzgtool.com

CNCH# =TI 1

CNC Tool Holder

MaiF1x®

i
GSKﬁLrﬁ’i’ 7] ’Fﬁ
GSK High Speed And
High Precision Toolholder

MigES LNy
HHEENO. xCo | | et xF KL RMB
BT30-GSK10-60 85
BT30-GSK10-90 85
BT30-GSK16-60 85
BT30-GSK16-90 85
BT40-GSK10-60 100
BT40-GSK10-100 100
BT40-GSK16-60 100
BT40-GSK16-100 100
21 92SK10 30
R5SK16 38
HAIRF 65
MTA/BE X ¢ & 7] 1
MTA/B Morse Taper Toolholder

~ MTB

MRS B

#BNO. xFCol et xBRMFA/MxL RMB

BT30-MTA2-75 67
BT30-MTA3-75 67
BT30-MTA4-75 67
BT40-MTA1-120 11
BT40-MTA1-45 78
BT40-MTA2-120 106
BT40-MTA2-60 67
BT40-MTA3-135 106
BT40-MTA3-75 67
BT40-MTA4-165 133
BT40-MTA4-90 72
BT50-MTA1-120 233
BT50-MTA1-45 183
BT50-MTA2-135 222
BT50-MTA2-60 167
BT50-MTA3-150 222
BT50-MTA3-75 167
BT50-MTA4-180 278
BT50-MTA4-90 167
BT50-MTA5-105 183
BT50-MTA5-210 378
NT40-MTA2 78
NT40-MTA3 78
NT40-MTA4 78
NT50-MTA1-45 183
NT50-MTA2-60 178
NT50-MTA3-75 178
NT50-MTA4-90 178
NT50-MTA5-105 183
BT40-MTB1-120 11
BT40-MTB1-45 78
BT40-MTB2-120 106
BT40-MTB2-60 67
BT40-MTB3-135 106
BT40-MTB3-75 67
BT40-MTB4-165 133
BT40-MTB4-90 72
BT50-MTB1-120 233
BT50-MTB1-45 183
BT50-MTB2-135 222
BT50-MTB2-60 167
BT50-MTB3-150 222
BT50-MTB3-75 167
BT50-MTB4-180 278
BT50-MTB4-90 167
BT50-MTB5-105 183
BT50-MTB5-210 378
NT40-MTB2 78
NT40-MTB3 78
NT40-MTB4 78
NT50-MTB1-45 183
NT50-MTB2-60 178
NT50-MTB3-75 178
NT50-MTB4-90 178
NT50-MTB5-105 183

SBABTIR

o C Powerful Collet Toolholder

SDCEH R KK TI A

SDC Back-Pull Collet Toolholder

MEES

B

MBS B
HHEBNO. xFKCo | | et xBRIMFA/MxL RMB
R8-C32 267
NT30-C25 267
NT30-C32 267
NT40-C25 267
NT40-C32-105 256
MT4-C32 311
MT5-C32 422
MT6-C32 611
MT6-C42 756
NT50-C32-105 389
NT50-C42-115 500
BT30-C20-80 256
BT30-C25-80 256
BT30-C32-105 256
BT40-C20-90 256
BT40-C25-90 256
BT40-C32-105 233
BT40-C42-100 444
BT50-C20-105 389
BT50-C25-105 389
BT50-C32-105 389
BT50-C32-135 444
BT50-C32-165 500
BT50-C32-200 611
BT50-C32-250 722
BT50-C32-300 944
BT50-C42-115 500
BT50-C42-135 556
BT50-C42-165 611
BT50-C42-200 722
BT50-C42-250 889
BT50-C42-300 1089
SK50-C32-110 722
JT50-C32-110 722
&3C20 15
2jHC25 15
=IHC32 15
B3c42 32
#FC20/25/32/42 16
B R RKTIR

Tool Shank Of
Self-Tightening
Drill Chuck

MERS

HREBNO. xK3KCo | | et xERMFA/MxL

APU13ER NSk
APU16EA N SL
BT30-APU08-80
BT30-APU13-100
BT30-APU16-100
BT40-APU08-100
BT40-APU13-100
BT40-APU16-120
BT50-APU13-110
BT50-APU13-180
BT50-APU16-130
BT50-APU16-180
NT30-APU13-100
NT40-APU13-100
NT30-APU16-120
NT40-APU16-120
BR#RK1-13
BR#RK1-16
C20-APU13
C20-APU16
C32-APU13
R8-APU13
R8-APU16
MT3-APU13
MT4-APU13
MT3-APU16
MT4-APU16
APU3R 3F (08/13/16)

LNy

RMB

100
1M1
156
156
167
156
156
167
244
333
261
356
167
167
178
178
83
100
133
144
150
133
144
128
128
139
139
8

SN E = 71 4%

SLN Side Fixed Type Toolholder

FHERNO. xFCol letxL RMB *m*ﬁﬂ% Eﬁl\
BT30-SDC6-90 250 ARERNO. B dx BKL RUB
BT30-SDC8-90 250 _

BT30-SDC10-90 250  pragois o

BT30-SDG12-90 250 BTa02SIN20 4

BT40-SDC6-90 267 e et

BT40-SDC8-90 267 oL et

BT40-SDG10-90 267 BTAGRSTNE=T5 oo

BT40-SDG12-90 267 E o

BT40-SDC6-120 333 U o

BT40-SDC8-120 333 B4GRS T2 -

BT40-SDG10-120 333 E 5

BT40-SDG12-120 333 LT 5

18 B | RCOLLET BT40-SLN20~150 106

fE1SDC06 50 BT40-SLN25-100 72

fE%sDC08 50 BT40-SLN25-150 106

fEIRsDC10 55 BT40-SLN32-100 72

fEiRSDC12 55 BT40-SLN32-150 106

BT40-SLN40~100 83

AAHBFRIPTIHE BT50-SLN06-105 194

Torsional Tapping Protection Toolholder BT50-SLN08-105 194

BT50-SLN10-105 194

BT50-SLN12-105 167

BT50-SLN16-105 167

BT50-SLN20~105 167

BT50-SLN25-105 167

BT50-SLN32-105 167

BT50-SLN40~105 178

BT50-SLN40-150 222

BT50-SLN40—200 267

BT50-SLN40—250 389

Mg A= X BT50-SLN40-300 444

FHENO. xJSLCo | ot xBZHEA/MxL  RMB BT50-SLN50. 8-120 233

BT50-J4112 500 P~

BT50-J4124 556 3} g_gtm_] gg 33

BT40-J4112 333 010-SLN6-100 o4

BT40-J4124 389 C10-SLN&=150 4/

MT3-J4112 311 C12-SLN4-100 94

MT4-J4112 333 ©12-SLN4-150 94

MT5-J4124 422 ©12-SLN6-100 94

N C12-SLN6-150 94

LIRS C12-SLN8-100 94

GT312 [E4x 67 C12-SLN8—150 94

GT312_H#R 78 C16-SLN10-100 94

GT24 [E4R 83 C16-SLN10-150 94

GT24 H#F 94 C16-SLN6-100 94

C16-SLN6-150 94

&AMk 7] 714 C16-SLN8-100 94

Side Milling Tool Holder of Saw Blade 01 6_SLN8_150 94

C20-SLN10-100 106

£20-SLN10-150 106

620-SLN6-100 106

C20-SLN6-150 106

£20-SLN8-100 106

£20-SLN8-150 106

NT40-SLN12 83

HMRE S B NT40-SLN16 83

FHEENO. xFkCo | | et xBEMFA/MxL RMB NT40-SLN25 83

BT40-SCA22-90 275 NT40-SLN32 83

BT40-SCA25. 4-90 275 NT50-SLN12 178

BT40-SCA25. 4-120 350 NT50-SLN16 178

BT40-SCA27-90 275 NT50-SLN20 178

BT40-SCA32-90 275 NT50-SLN25 178

NT50-SLN32 178

HLER 2 3 ik 45 NT50-SLN40—105 183

Machine Tool Spindle Test Rod NT50‘SLN42—105 200

r — NT50-SLN50. 8-120 233

15020-11. 3-¥%45t+ 170

MRS =Ry 185025-11. 3-1R%t+ 170

FHENO. xKSCo | I et xIRNEA/MxL  RMB 1S025-20- 1745+ 170
BT30 390

BT40 390 HSK32E-11. 3#F %t 345
BT50 550

ULENMBASHAZIEE
DUEEELEDS E?ﬂzﬂ]zxﬂﬂﬁﬁ’-ﬁ o



http://www.mzgtool.com

MaiFix® AT T) fR AL 1

CNC Tool Holder Accessories

HAIETIRELET By TR T B =TI R T B

CNC Tool Holder Puller Bolt CNC Tool Holder Lockset CNC Tool Holder Lockset

tiit

BT DIN69872 IS JIs

=TI R T B

CNC Tool Holder Lockset

MBS AMgE S
BT30-45° 6 NBT30 60 18020 250
BT30-60° 6 18025 250
BT30—90: 8 HSK25 250 BT50 160
BT40-45° 6 HSK32 250
BT40-45° jEFl, 8 HSK40 300
BT40-60° 8 HSK50 300
BT50-45° J@7L 15 HSK100 500
BT50-60° 5 4 om N
BT50-60° JBFL 16 IHEERR FihH MR EHIFEE
BT50-90° 15 Z-Axis Setter CNC Edge Finder Machine Tool Spindle Cleaning Rod
DIN69872-30 15
DIN69872-40 15
DIN69872-50 25
1507388-30 19
1507388-40 19
1507388-50 25
J186339-30 15
J186339-40 15
J186339-50 %g
MAZAK-BT40 - - 7S m ) o 7S
MAZAK-BT50 25 iUR= il 1) ;}L*%ﬁ:"; %1“

FHEINO. xFLCo | | et xBRMFA/MxL RMB

ULMBASHAZEE!
RIS IR K IEFAVRENEF Y W



http://www.mzgtool.com

ERFREBECH

Lathe Chuck Accessories

MaiF1x®

TEI 3R MR B2
Chuck T Block Dimensions RMB
inch
6 inch 50
8 inch 65
10 inch 80
12 inch 93
]51
Chu{[‘Ja%\?lemg Plate §+nf§n)§ol
4 inch SBL-204 | 1828 | SB-204 | 1828 | SBS-204 | - 5 inch
5 inch SBL-205 | 1828 | SB-205 | 1828 | SBS—205 | 2028 . 6 inch
hemEER |0 1nch SBL-206 | 2070 | SB-206 | 2070 | SBS-206 | 2360 inch 450
Hliow 8 inch SBL-208 | 2285 | SB-208 | 2285 | SBS—208 | 2445 10 il 485
Hydraulic Chuck | 10inch SBL-210 | 2930 SB-210 2930 | SBS-210 | 3360
12inch SBL-212 | 5000 | SB-212 | 5000 | SBS-212 | 5570 .
15inch SBL—215 | 11100 | SB-215 | 11100 | SBS-215 | 12600  H SC3HEI A& R~
P Solid Hydraulic Rotar! Jl' N
?_ﬁkggé 6 inch 2DTK-206 | 2720 |3DTK-206| 2720 |4DTK-206| 3000 ) ifaer J Dimensions
La;‘jﬁp;m 8 inch 2DTK-208 | 3285 |3DTK-208| 3285 |4DTK-208| 3450 4% 5 inch(0815)

Hollow Hydraulic Chuck| 10inch 2DTK-210| 3930 |3DTK-210| 3930 |4DTK-210| 4360 6 inch(1020) | 550
*il_kﬁggz 6 inch 3JDB-206 | 4150 8/10inch(1225)| 630
BEFE 18 inch 3JDB-208 | 4710 12 inch(1530) | 830

Hollow Hydraulic Chuck 10inch 3JDB-210 5285
thzsigzl |5 inch SBL—205KQ| 2500 |SB-205KQ| 2300 [SBS-205KQ| 2800 ey
SH+& |6 inch SBL-206KQ 2650 | SB-206KQ | 2570 |SBS-206K@| 000 T EEL AL R S

Hollow Half-Through |8 inch SBL-208KQ| 3000 |SB-208KQ | 2860 |SBS-208KQ| 3310  Cylinder SIMENSIONS
cumAteEINe 1 10inch SBL-210KQ| 3300 |SB-210KQ| 3150 |SBS-210KQ| 3816 # ‘51 !HCE%%)

4 inch INL-04 | 1800 | JN-04 | 1685 Il
5 inch INL-05 | 1900 | JIN-05 | 1720 g 'PCT]((11254562)) 152388
5 6 inch INL-06 | 2100 | JN-06 | 1930 inc
PRREFR g ch INL-08 | 2300 | JN-08 | 2150 10 inch(1875) | 2720
Solid Hydraulic Chuck [ 10 nch IJNL-10 | 3000 | JN-10 | 2800 12 inch(2091) | 5500
12inch INL-12 | 4700 | JIN-12 | 4570 \M
15inch JINL-15 IN-15 | 9700 EEZHE Mg R <t
- Chuck Connecting Disc Dimensions
q:*k{ﬁi 5 inch| 1L-05 | 2300 | 2L-05 | 2150 | 3L-05 | 2500 2
WEF&E |6 inch| 1L-06 | 2500 | 2L-06 | 2285 | 3L-06 | 2700 4 inch
soignesoke 18 inch| 1L-08 | 2600 | 2L-08 | 2280 | 3L-08 | 2800 5 inch 90
/ 10inch| 1L=10 | 3500 | 2L-10 | 3150 | 3L-10 | 3700 6 inch 90
REEXIHE 16 inch JLS-206 | 3750 8 inch 150
BEFE 18 inch JLS-208 | 3950 10 inch 200
Hollow Hydraulic Chuck| 10inch JLS-210 | 4360 12 inch 300
LD MR+ 2N
:ardJaWFO' Dimensions RMB
ydraulic Chucks -
5 inch 430
6 inch 500
8 inch 550
'*a, 10 inch 685
12 inch 860
15 inch 1550
MigH S
MERRSEREFRR |6 inch
Solig?—imygsgjiacﬁgzuck 8 inch BT
= ZERIZEN 1 D i
if%i?é 5 inch JYL-05 3100 | JY-05 3000 | JYS-05 3500 Fan Softdaw For f,{“m*fn@ol %M%‘
T 6 inch JYL-06 | 3300 |JY-06 3200 |JYS-06 | 3800 HyaraulicChucks 5 inch
Hollow Hydraulic Chuck |8 inch JYL-08 3900 | JY-08 3800 | JYS-08 4100 6 inch
10inch JYL-10 4300 | JY-10 4150 | JYS-10 4650 ine
= - - 8 inch
EF L 5 inch SBL-205KQL| 3000 | SB-205KQL | 2900 [SBS-205KQL| 3300 10 inch
SASHFE 4 hen SBL-206KQL| 3250 | SB-206KQL | 3150 |SBS—206KAL| 3600 inc
Venow el Trrouah 8 inch SBL-208KAL| 3800 | SB-208KAL | 3700 |SBS-208KQL| 4000 12 inch
10inch SBL-210KQL| 4100 | SB-210KQL | 4000 [SBS—-210KQL| 4500 15 inch
an (56
(o) aw ror i H
Bt chues| 2\ s a°=120° 65 MBI a"=120° 8<FMAHM a°=120° 105 MAHIK a°=120° 125 I BE a°=120°
A 5 Inch Soft Jaw For Hydraulic Chucks 6 Inch Soft Jaw For Hydraulic Chucks 8 Inch Soft Jaw For Hydraulic Chucks 10 Inch Soft Jaw For Hydraulic Chucks 12 Inch Soft Jaw For Hydraulic Chucks

MERT BB BNIABRT SE ENHRRT 5E 2N|NERT S BNIABRT S8 20
Dimensions RMB Q Dimensions RMB Q Dimensions RMB J Dimensions RMB [ Dimensions H RMB
{ 5H40 40 | 57 6H50 50 | 72 8H40 40 | 86 10H50 50 | 100 12H60 60 | 145
n 5H50 50 | 72 6H60 60 | 86 8H50 50 | 86 10HG60 60 | 115 12H70 70 | 170
5H60 60 | 86 6H70 70 | 100 8H60 60 | 100 10H70 70 | 130 12H80 80 | 200
R T 5H70 70 | 100 6H80 80 | 121 8H70 70 | 115 10H80 80 | 145 12H90 90 | 250
O e T a For Hydrautic Chucke 5HBO0 80 | 165 6H90 90 | 136 8H80 80 | 130 10H90 | 90 | 175 12H100 | 100 | 310
A& R~ %r— =R BN 5H90 90 | 190 6H100 100 | 158 8H90 90 | 150 10H100 | 100 | 210 12H120 | 120 | 336
L SR S 5H100 | 100 | 215 6H120 | 120 | 215 8H100 | 100 | 180 10H110 | 110 | 230 12H150 | 150 | 395
43 6H130 130 | 235 8H120 120 | 215 10H120 | 120 | 250 155 S T a°=120°
43 o |0\ s | % | m mEEeLL

) 8H150 | 150 | 200 10H170 | 170 | 430 Pkiataspellial=

8H200 200 | 570 10H180 | 180 | 460

15H100 | 100 | 650
16185 10H200 | 200 | 615 45H120 | 120 | 715
285 15H150 | 150 | 1080

UEMRAZHAZIZER!

A—11

WIS IR RIEFAVREEF Y W



http://www.mzgtool.com

FEMHFLAESIHARAA

DongGuan Ming Ze Hardware Machinery Co., Ltd

J‘ggq:“lt.‘:
IFEEAETKREKRESIR FH428
% : +86-769-85359561 85359562
FHl: +86-013929492309

f£H: +86-769-85359513

4k http: //www. mzgtool.com
QQ:800001819

{5 MZGCUT

B #8: sale@mzginj.com

=
Machine Tools Price

X



http://www.mzgtool.com

	1: 封面
	2: P1.钨钢铣刀
	3: P2.硬质合金刀具
	4: P3.无屑挤压丝攻
	5: P4.先端丝攻
	6: P5.螺旋丝攻
	7: P6.手用丝攻/圆板牙
	8: P7.CCMT/CNMG
	9: P8.DCMT/DNMG
	10: P9.SCMT/SNMG/TCMT/TPGH
	11: P10.TNMG
	12: P11.VBMT/VCMT/VNMG
	13: P12.WNMG
	14: P13.螺纹车刀
	15: P14.小零件切槽/切断/后车削
	16: P15.TGF32浅槽加工
	17: P16.GBA43/GER/GR切槽刀片刀杆
	18: P17.MGMN切槽/切断刀杆刀片
	19: P18.端面/内孔切槽刀杆
	20: P19.数控车刀价格
	21: P20.车刀零配件价格
	22: P21.APMT直角台肩立铣刀
	23: P22.RPMT机夹式圆鼻立铣刀
	24: P23.SEKT平面铣刀/T2139球头铣刀
	25: P24.锁牙式刀杆刀头/快速钻头
	26: P25.双刃粗镗/微调精镗刀具
	27: P26.镗孔刀柄
	28: P27.ER夹头刀柄/FMB平面铣刀柄
	29: P28.GSK/莫氏/侧固/攻牙/后拉/测试棒/钻夹头/锯片刀柄
	30: P29.刀柄零配件
	31: P30.车床卡盘配件
	32: 联系方式

